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T \PART 'A' c
L ot vt & gt 4, & o o e A AB
fordr & &, Rred smur o1 st 3 e
FH A cmattus Fr § wE sear 9
TEE
A, wfear e § D <:'
B. gt ey 5 U § s
G SN, ET T T 32 K - |
D.- qim 3 ﬁ-ﬂjifhﬂd‘ :irl:.ln mmmi‘
L ABLGD 2 CBDA perpendi gl y
3. ACDB 4 CDBA 2 and PB md:ﬁ:?ﬂi:r:gu; :tl_!P. IfCP

L. In each of the following groups of words is
) 5 a
hidden number, based on which you should
urrange them in ascending order. Pick the right

A. Tinsel event 6
B. Man in England

C. Good height

D. Last encounter

L ABCD 2 G @ b

. AC,D,B 4 C

:

1. 1 & 25

2. AR T mEU o2 o qu ® Sl .
min+mn=114 Q

A omEnF AR 4. ﬁﬁrmmmmﬂﬁr#mxm

: Jiefardraa: w w1 A B
2. Letman &pmirtw integers such that

m+n =118 130
Then e of m+9is
I not uniguely determined

I8

do b p —
Bl BF e
Id&:ﬂ-

2
3 20 el
4. 2
130
3. ABUF I F =0E 81 e CD, ARE AW i
U 30 P o wftede wwer 1 o op=2
RAPE=1 ¥, o e AT o b > s

For Online Coaching of csir-net | maha-set | Gate | visit: www.biologyscholar.com, or contact: +91-7021 673266,mumbai



4. What is angle x in the schematic diagram given [, T Seadr ey F £
below? 2. g ot aemd F &
3 3 R S & E
4, ¥ Zfoh aent 7 €

130° 6. Staiting from & point A you fly one mils south,
then one mile east, then one mile nonth which

brings you hack to point A. Point Aejg NOT the
130 north pole. Which of the foll ST be
130 true?

1. Youare in the North

2. Youureinthe E phere
3. Youare in the Ttmisphere
;' ig i ig 4. You arcin the So Hemisphere
; . R
5. a0 R & ww W A 1 R w 7. W F“‘“"_’““ﬂ“ﬂ:
v fe @ Y g9 ¢ PR 3 US w3 IR F el FH
I F wEE H § A g § e "'“@ m“"mg .
9 ¥ et § % e f 1N 4 107
(e & (7)) & woow & om @t & o S
é“) " G)A m long car goes past a4 m long truck at
WP & T S i rest on-the road. The speed of the car is 7 mis,
(4 2 1(}) The time taken 10 go past is
" l. 475 2, 1s
s 29(3) + (35 3. s 4. 107s
8. we T A 40w MiRT § A mees w
5. fmmasmup:t"-m plmm el of # so @ A § F W aw s At
11 players is chosen. Th H:i.‘i‘:\r:ﬂ is - 2
chosen ns the capt eam. The total A ﬂﬂ'ﬂ?ﬂﬂ;ﬂﬂﬁt
numhcrui'wnysthl aren §) 3 W F Iefioeem O W
[[ helmﬂ.rm@v mbnrulwnusn Mt & F & amw B Srar B A i)
objects can bgchoseNfrom m objects] AaTA # o AR §w | e et
' ° 2 {ls # wE ¢
19 | = & gihe miedl & e F 7
+ (50) 2w A whE T A FE & IR
3. W # whg a4 i §E ® FR
AR UE FA FA W vR Ao @ H 4. & ardy gEer ¥ sfediRe

=2 o vw Aa oF @ 3 o

' £ 3 8. Jar W contning 40 white marbles and jar B
o A IwR L GiA R contains 40 hlack matbles, Ten black marbles

g W & 8 B A 3@l gE oA B from B are trnsferred o W ound mixed

e # ¥ =41 yEEEd 79 &7 thoroughlv. Now, ten randomly selected
marhles from W oare put back i Jar B to make
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10,

10.

11,

40 marbles in cach jar. The number of biack 11.

marbles in W

1. would be equat 10 the number of white
miarbles.in O

2. would be more than the number of white
murhlos in B

3. would be less than the number of white

12,
marbles in B _ ’
4. cannot be determined from the
information given
9= & g, HRGEr & AT TS T
10 #FEx 9ty @ wATET ot & oy &
Rt s w3 A, w9 Y 9 Ao
TSR Gedt 9T A, | oftedt & st sv
wH
L ApAg< Ay 2. AcA> A,
3 APASA, 4, AFAR A
12.

Consider 3 parallel strips of 10 m widih
running around the Earth, parallel 1o the
equatary Ay st the Equator, Ay at the Tropic of
Cancer and A; at the Arctic Circle. The order of

the areas of the strips is :A

1. A|‘(.r"1.1‘:.|ﬂl.; 2 ﬁ;"'ﬂ:} -r’l.'i
3. ApPAr= Ay 3 ApA
fiir.q _aN::-S \
eF =1 P 13,
EH=M \
Ea ns=o Q
. r 29 A
- 3 $ ® K
Ir NS
@
M
then n&
T 20X
3 L 4 K

10,000 =5 0 Reewir aror aeard £ aife
T O F A @ e a3

fanaiar &
. 2 2 203
3. = 4, 3334

How many non-negative integers less than
10,000 are there such that the sum of the
digits of the number is divisible by three?
1. 1112 2. 2213

i 223 4. 3334

A= wafeeat A, Baw ¢ & o

WA § U AT =T w9l #
B, T JH FAIT WY 3 Vo
AN T R el
T A CE B A N HF T
T &'0
B#H’ﬂﬂ'?_‘ A A SR A
&7

I A = -

1 O 4. Jfedfa

y persons A, B and C, one always lies

the others always speak the truth. ©

A, “Do you always speak the truth, yes
no? He said something that C could not

hear. So, C asked B, “what did A say?"

B replied, “A said No™.

Sa, whao is the liar?

. A 2. B

- S - 4. cannot be determined

S R & o b sew A 2 amEe
3 W AT B W v @ dfta
UF G AN T uw A f AW
Fum e & a3, 8 7 w8 £ afy
g A I ¥ A Ry a ¥ B,

i Wy gl
. AR ROTE 2 AR R
. BRAR WE 4 B oy
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13 14. ]
N, o o
H, “}h : / [
A( } & t:: F\f; :. \,_
\ !""' 1 l",r-
N i (9 P
L. ) g Bl N g \
Two ants, initinlly at  dismetrically opposite 'I':' h T L
points A and B on a circular ring of radius R, 5 g s g g
start crawling towards each other. The speed ol ek
the one at A is half of that of the one at B. The
E?:;L:l: ;hiah they treer s At & straight line Based on the graph, which of ing
» statements is NOT true?
I. R fram A 2. S fromA 1. Number of gald
: IR whenever toml n medals
3. RffomB ~ from B s ot
2. Percen creasg in gold medals in
14 20100 is mare than the
ol increase in total medals
26— — 3 -gold medals together
m— @v #'mare than S0% of the total
o— 3
sl m 4. \fercentage increase in gald medals in 2010
ii: over 2006 is more than the comesponding
l.n_ ' O increase in 2002 over 1998
Gt
an—| 1
2 Xae \ o RefAg s aren Rt 1ol e’
-u_"hg__ 4 TR W wOS W woeT SugRuT W
[ A7 W0 S g e e Uy TG I g WS o A 4 b e’

& % @ B gr A A A 0som 1
et &wm & v fees avst &

ﬂmmﬂﬂw i 10 L 7 M
i mwﬂ 3. 36 4, 40

15. A pymamid shaped toy is made by tightly

o Iﬂuﬁ_ﬂ ﬂ trzm'tﬂ'm_uﬁ placing cubic blocks of | = 1'% | cm’. The
® . P Tew A 5 ' buse of the toy is a square 4 x 4 cm’. The
; 4| width of each step is 0.5 cm. How many

3 e @1 dE, T blacks are required to make the toy?

& 1. 30 2. M

T ST H 50% W I W AW 3. 36 4. 40

&l

4. 2006 FAAT & 2010 # Fah o= A 16, DNAF I 4 6, 3 A T Gam ©
6 v gfe, 1998 & g & 2002 *Iﬁﬁﬂtw{tlﬂmctm
# ¥ W IR F A § waw € aw AT T F e o we
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6.

7.

17.

18,

18
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¥ B ONA TRt # ¥ Rl Enae:
A ffawa oo gt w o &
e 3o guar safafey

1. AT 1000 T &, 10% G gw 19.

2. ST 2000 A M, 10% A TFe
3. TS 2000 ATO @, 0% T T
4. REE 1000 TN B, 5% C T

Information in DNA is in the form of
sequence of 4 bases namely A, T, G and C.
The proportion of G is the same as that of C,

and that of A is the same s that of T, Whick 19.

of the following strands of DNA  will
potentially have maximum diversity (ie.,
maximum information content per base)?

I length 1000 bases with 10% G

2. length 2000 bases with 0% A

3. length 2000 bases with 409 T

4. length 1000 bases with 25% C

I R B 2w 2w s &
ﬁm-mﬁmmﬁgl-mm“ﬁq
Amauﬁgtnﬁmﬂm&

1. & 2 3

3, 5 4. WA

#t 60° 1o each other, A point i

angle bizector. The num of the
point is

1. &

3 5 Infinite

.
o @A Fur 3w

THAW 9T & 8| Faw
7 " Rs, 712900 fEw, @

WS O W o A A
2 R4 BOO
4. Ru9112%

I'baught a shirt at 10% discount and sold it 1o
a friend @i a loss of 10%. If the friend paid
me Rs. 729.00 for the shirt. what was the
undiscounted price of the shirt 7

20.

l. Rs 900 2. Rs. 800

3. Rs. 1000 4, Rs.9]1.25
W rHEAREE M T aaee & 70%
I B H b af 3uy s F -4
10% @& FFEE B 8, o IuE

T PeEer qREde fm

1. 3% 2

3. 0% :

A single celled cal ISm contains
0% water by v If it loses 10% ofits
water canlent, ho would its surface
area imately?

1. 3% 2. %

3 ﬁ%O 4. 7%

G,

=4

6:;} dt x4 =x' - A gt oy
3]

(3) Ae: {r—4]=[’x-4].{':+4]
g Tt F (x —4) T FEE

) 1=(x+4)

(5) @ » =-3

Wi W FEH w2

L 1#2 -

3, 3R/ 4,

283
435

Suppose

(tyx =4

(2) Then x — 4 = x* — 4%(as both sides are
Fero)

(3) Therefore (x —4) = (x - 4)(x + 4)
Cancelling (x — 4) from both sides

(4)1=(x+4)

{5) Thenx = =3

Which is the wrong step?

. 1102 2.

3. Yy 4,

103
4t0l



W w ART 131 23. Follewing #re three single stranded DNA

sequences thnl form secondary structures.
(3 ATTGAGCGATCAAT
(b ATTGAGCGATATCAAT

21 UF uEHT et w0 1% (wi) e U ) AGGGAGCGATCECT
TFAIEHE ZaWT (20 A& U, A= 200,000) Bused on their stability, which one is comrect?
uig fear s B W west (nsn Lo(ah=(h)=(c) 2. (c)>(a}>(b)

‘I h = 4. oy \
=a00)  FEww Ay & To=Aw S T 3 (W>(c)={a) (0} > (c) >(a)

Tﬁs;m'ﬁm” .1 T;ua*? TeEH AT ¥ e
3. 40x10°" 4. 25x10° o e i Al

21. A 1% (w/v) Solution of 4 sugar polvmer is
digested by an enzyme (20ug, MW=200,000),

i,
2
The mate of monomer sugar (MW=400) 3 - i
libernted was determined to have a maximal 4, m% -
t

initial velocity of 10 mg formed/min.  The

turnover number (min” ) will be B 24, Which Plollowing enaymes is NOT «
. 5x10* 2. 25x10 pars of ie dehydrogennse enzyme
3. 40x107% 4 25x10° vealysis pathway?
. @\ﬁlﬂ“ dehyvdmgenase
22, ©F FHicw-Fusian difedess & &7 wigewr 2. o Ditdrotipoy! transfecase.
W IR =F AT A E 5 Difydrolipoyl dehydmpennse.
' 4. Dihydrolipovl axadase.

n & NH U g« 4 offa3aw & co
n.#cq?fﬂrmnﬁmmtwu 25, FelrEE F Fue-mEire gt & R
o ¥ CO T n +4 VAT 35T F NN e e T T T e
n-#uﬂmnrsm-r® Tt e F R 39 P dsTe

ckhone - AP B 2

ol - A

22. In an alpha helical polypeptic
hydrogen bonds are ber
1. NHof nand CO of gt

1
r e SEEiEE
2. COofnand NF o yeitds B =
1. CO of naid NI oNusHk amino scidy 30 rwTE e 3 s
4, ofgn + 3 umino avids A, paihisr s A& oads

23. W W A SipeH, Ji i 25, What phenotvpe would you predict for &
T &, Fiee € mutant movse lacking one of the genes
fa) Rl AGCGATCAAT reguired for site-specific recombination in
{ TUGAGCGATATCAAT Iymphoeytes?
GGAGCGATCCCY L. Decreasein T cell counts
e & R 9T, S g8 B 2 Immunudefigient
1. (@ =(m)=1(e] 2 (ey>{u=ih 3. Inveresse in'T cell counts
PR Y T -3 Sl T N - I (S et d lncrease in Boeell couns
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26. e SIS A SO ST & a7 W
¥HT Fue g% e A fa b
1. ?Iﬂﬂi?
2 g Tk
3. T e

4 JHEEu =

26. The key ieterminant of the plane of cytokinesiy
in mammalian cells is the position of

chromosomes

central spundle

centrioles

pre-prophase band

B

7. AR g s Rt &

4, AT
27. Beating of cilia is regulated by
1. actin 1 myosin

3. cofilin 4, nexin

30. W I EFEU

L R F R 6RE & SPUT UF Ay
'G-OH' U Framseiel AT AT B

L XFEEF T ATFE S P 0E
mmﬂqmwvjﬁmw
EraEmEA! ITFEHT FAT £

1 B W UUH MIGE & STUT
et oRawE 51 oW
FeEHEAET ImETOT

4. TFEW & dfREas -HYuEH
L2ni4ie L RIET B

30. In type [ shigi

1. G-k autside makes 2
nug] @ atsek on 3P of first
c ron

2 '0) of an internal adenosine
anueleaphilic sttack om 5P oI first
& of intron

6. A3 ot anintemal edenasine males g
nucleophilic attnck on 8P of first base of

carried out by U2J4RU6

28. TEPT YenEmAT TRTeee Ukl TaEE * introi
(CFTR) FRw et & oftsss & forgaor Q 4, the hydrolysis of last base of exon is

ST e & O
I Cu* b \
3 HOOY i Q
L 2
28. Cystic fibrosis transmgem
regulator (CFTRY is kn
tratispont of which fon'
G

2 Sigmas 32 (a")
4. Sigma70@™

29. In bacterin, bheat-shoek réspanse is primarily
controlled by
I, SigmaS(’) 2
3. SigmaE(a") 4

Sigma 32{a™)
Sigma 70 (o)

31, R Aur AR AT e
dedl a1 ATEIED & oA @ B s

e &

A, St # wiEee ARt e
AR T RNA AT T ST B
4]

B. :%ﬁmupﬁﬁ'aﬁ:mﬂﬁzmm;;aﬁ;
7 DNA #F §

C whefEd & AT IR T A
CIERITICeo

0. Fhand F ANA T DNA, 2 TR
R i £

T WA & T

. AFWC 2

1. ASYD 4

BETC
pagTD
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M. Given below are some Sstatements about
prokaryotic and eckaryotic mobile genetic
clements or transposons.

A. Maost mobile gtm:ilc clements in
bacteria transpose vin an RNA
intermediate.

B. Most imobile genetic elements

bactenia are DNA.

Maobile genetic elemerits in enkaryates are

oply retrotransposons.

D. Baoth, RNA and DNA transposons, are
found in sukaryotes.

Choase the correet combination.

c.

1. Aand € 2 BandC
3. AandD 4. Band D
SJ.Eﬁ'FfﬁﬂH F Zw o A wiafafsor

Fieal F DNA TfesETst & ge-ara A

GERT U S B, S AES A

1. e quer & 5T W spEEe
IAET -3 vEEEgEEAE AR g
Fe §

2. FEmEhe swer & 3 B | ogEEER
FoE 53 UFEReas i G
were #

3. TEmade gEw & yfar =
AT 3-5° ORATEga s Al
= E

4, Frmnrie e & 5 WY

ECERRES] :

fand
Copying errors occ ring roplication are
corrected by the proo ing activity of DNA
eLonize incorrect bases
the growing chain and
em by 5'-3"exonuclease

32

* end of the growing chain and

ove them by §°-3'exonuclease

utivity

3, atthe 3 end of the growing chain and
remaove them by 3'-5'exonuclease
netivity
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4. atthe §' end of the growing chain and
remove them by 3'-5'exonucicase activity

33, A A yEe AT F OF A &
e, PEGhte BEs dwolE ofEad
yawa @ad § o GTP Fe-HEEE ®

e &
I T . ™
kP 4, d=

how  many ational
changes does the rnibos ocdefto that ane
coupled to GTP hydmhm
l. Zero f
3. Two A hiree
M, Ffe H I WY OEw

Feaa Hpcadd &7
6 qfesduy 2 dftdes
3, oTReET 3 rFw

. Callngens are the most ubundant component
of the extracellular matnx.  In order to
maintain normal physiclogical processes like
wound healing, bone development, eie.,
which one of the following type of enzymes
15 MOST important?
I.  Peplidases s
3. Amylase 3.

C0 HEE O quwser & R 6wds
aftmE w@ W B ot A # st
| REA & e wEs Foam
FegiFatEal

Wit ZaTn WiieE & ofiF

DNA FYFWOT OF &g e & e

Proteases
Lipnses

£owoN
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35. Which one of the following events NEVER A GesE ZaeE :
activates the Ge-protein coupled recoptar g il il

sequésiaring Ca® relcase? SN (WM A WA whd umeeor qut i
1. Interaction of bindin 1o sperm  receplors. s afeataa s &
2. Activation of Frizzied by Wat. Wi
3. Cortical reaction blocking Ju! e SRR

polyspermy 2. EfEeE-sew qu
4. DNA synthesic and nuelear envelope i FGFOY

breakdown. 4. ZwrAlcY gy

%. . :
FIHT I TR et o & Hew 38. Hydra shows morphallactic ation and
& involves which one of ing signal
. IATAT o8 6@9% ATEA transduction puthway in | 4
b I, | !
2 U S @ U ST afdear =L i
: _ _ 2. Retinoic acid

3 THRIR T wdT e oe 3. FGFp -

Ffwrg 4. Delta-
4. RS W WRsu Fur e

s o Jafly .

36. The main difference between normal and 4

transformed cells are
|, immortality and contact inhibition 6

2. shorier generation time and cel) mobility -
3. apoprosis and tumour suppressor 4. JtgIT || f AvaraEyr

gene hyperfunction
4. Inactvation of oneope;
cell “ﬁuudu;ﬂu“ geince and ahoec 39. The mammalian ooeyte prior to sperm entry is
arrested at what stage of cell division?
1. Prophase of mitosis

37, AW R STI‘HTUFI? . 2. Prophase of meiosis |
afte famr srer B o 2 =) 3. Gy phase of mitatic cell cyele
T AT W R 4. Metaphuse of mejosis 11
. WA S A W FweRE W e @
~ T T I e b FAwTER § e AW wrew weer &

IR B v E A S I L o B
T 0 3F g B I Oer 4 Sox Tund Nanoy
o (34, Sox 2and Cdx2
3. Sox 2, Navng and Cdx2

wingat 20°C are war 1
growing AP W mac 4. Octd, Cdx and Nanog

are wost likely to synthesize
me ne lipids with more
1. short chain saturated farty acids
2, short chain unsaturated fatty seids transcHiMtion fctors namel
3 ) hai ud b c actors namely,
ong chiun saturated fatty acids % Um#.Sau!andNnnqg

4. long chain unsaturated fatty acids: 3. Octd, Sox 2 and Cdyd

3. Sox 2, Nanog and Cix2
4. Oct 4, Cdx2 and Nanog

40. The pluripotency of the inner coll mass in
mammals is maintained by a core of three
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&1 LEAFY (LFY), TF Tomia® ot ol Ovestioad
T (Aralildopsts thallyna) ¥ QU7 FTT -3
¥ oar & iy 0 B WA # 8 stEeEr
&

I LEAFY (LFY) =it fawssiesn & opae &

wiEias 2

LEARY (LFY) wof Treaoer & wfFATed ¢

3, LEAFY (LFY 7@ Taasdias & e 7
wieafaa ki

A LEAFY (LFY) B ST S&0I § #aer
Fafes ot & v G &

[

41. Which one of the following statements. about

LEAFY (LFY), t regulatory gene in drahidopsis

Vil is corraet?

l. LEAFY (LFT) is involed in' Mors
meristem identity.

2. LEAFY (LFY) is involved in leafl

expansion.

1. LEAFY (LFY}is invelved in root
merstem identin.

4. LEAFY {LFY) is responsible for fir-red
light mediated seedling growth,

ST WY & J1OE AifaEe SedaeT
muﬁﬁmmﬂmﬂ
e B oF W 5H AT & ST

41,

| HEY A \
1 W uE N O
ER I \
4. AR TEE
42, The guanium Yiel of gxygen evolution during

ally drops in far-red light.
n Bse

. 30T % affig Faifge oftd= & wima §
watraeg @3 § F= & F s
wiaframg = 3 af
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43

44.

45.

46.

dieys At A w4

oot 37 A WaEar Fw R
wiE & Jden
faey & 8= W

o -
H

- (Y}

Dark-grown seedlings display ‘wiple response”
when exposed 1w cthylene.  Which ane of the
following is NOT a part of “triple response™

1. Dreercase in epicoty | ehongation.
2. Rapid uniulding and expansions
3. Thickening of shopt,

4. Homzantal growth of epico

EILL
#Hmaﬁaﬁma

WI'LI:I:QXUHUWM g compounds is

nm: uuul.mi iy the phlpgem?
D-Glucose
! u.nm:rﬁl.' D-Frugluse

R wia @ At Ay
mﬁw#mﬂa#mhwuﬁm
5 FdTET & § fav awma Be
difire & & Tl s 87

I, WP 2. aTP
i uUDe 4. AQDP
Nitrogen pus s reduced (0 ammonia by

nitrogen fixation method. In order tw excoute
the protess, which one of the Tollowing
campounds is usaally required?

I. ATP & GITE

3. LDP 4. ADP

FURY ATEE ECG & § 0T 3 35EA
s AL

qém @ @ e fagar

AV 0 N arw T wieie B
e an fanfad Byao

. a A TR odE fagaer

4 UREH W g GEr

Bl -
b4 B
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46. The S wave of normal human ECG onginates

due 1o
1. septal und left verericulsr
depolarization

2. late dopolarization of the ventricular
walls moving hack toward the AV
Junetion,

3. left v right seplal depolsrization,

4. repolarization of atrium,

47, #ea WK & o e oW & § Ema
0 WW UHE & Ieaad gem & ah
B £
I, e & ol
2. e qa
3. ung @ ool
4, g A af

47. Which one of the following skeletal muscles of
human bedy containg highest number of musele
fibre in a motor unit?
. Muscles af hand

2. Extrapculer muscles

3, Museles of leg
4. Muscles of face
48 T ammndt A & fhrf#
T (BMR) 7ATA &7
I. FE
2. drdwnde
1. fRer .
4, Gli
48, tlle following conditions is Basal

te (BMR) the lowesi?
Wike and resting

2 longed starvation

3. Sleep

4. Higher enviropnmental lemperature

. WRmgET # Rum wieE T@ % B
T # Y e gy wfdis @
arfEe?
I Wb T IEA (NES), PRI

S
>

2 NES, ¥R AT maene
oSy FUHFT AFFA (NLS),

449, Which:one of the following comgfn

be present in asteroid recept bs [ dlated in
the eytoplasm?
1, Nuclear expon seq B

leucine zipper
2. NES, zine linggr moll
3. Nuclear loggl (9gion Requence (NLS),

zine fing
4, HI-S&

50.'3 qyaTEE | AT gy &
R aRT f T
HreW A YT # oS
Fr ugEE kg O e WiAEe
gefo fFen g & &s @ D

Nunrnzphira croese

coligromycey eerevisioe
Drpsaphile melungeaster
Figwm satifvoim

B ]

Lig

I
|
3
4

, 'Segrepation ol alleles can occur at Anaphase |
or at Anaphiuse 1l of meiosis’. With reference
ta this statement, which one of the following
organism is an  ideal model system for
identifying stage of allelic scgregation at
meiosis?

1. Neuraspora crassa

2. Succharamyces corevisine
1. Drosophila melanogasier
A, Pisunr satfvion

51, FEFE. WOegTes @ e e asowEdt S
e A, 8 A C REle = 6 e OEy,
fawar dwveEs Ao #h Cc & F w@aod
B ST Bl o 4. 8 W o ® dfsm
meamTEERt @ d sHASE ¥ Ry dse

Aaury 2fErdr wafa ) & ofasa B
[y
2. Med
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3, 6364
4. qaEe B a8 o wwar

51. Genies A, B and C control three phenotypes
which nssort mdcpendml.ly A -plant with the
genotype Aa Bb Ce is selfed. What is the
probability for progesy which shows the
dominant phenotype for AT LEAST ONE of
g;wmotypmcmwlled by genes 4, 8 and
1. 1/64
2. 27/64
3. 63764
4. Cannol be predicted

51, fPeeT A TN Jorw, Pl & SR B
Rt S oad § & Y o B
WHE A S Fawa & oRofie
I. M-cytotype @ x M-cytotvpe &

2 M-cytotype @ x Pcytotype &
3. Pcytotype @ = M-cytotype &
4. Pcytotype @ x Pcviotyped

. Hybrid dysgenesis in Drosophila is cansed by
P-clements.  Which one of the following
crosses between different eytotypes will lead 48
dyspenesiy?

l. M<cyiotype 9@ * M-cytotyped

2, M-cytotype @ = P-cytotype O
3. Peeytotype ¥ x M-cytotype
4

‘Pwmwﬂﬂ’wmwo

53. o gt F Us

3. gy oR & SR

%..
%
|
a
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53. In an experiment, clones of a plant is grown in
a field. The plants were observed to be of
different heights. When a graph was plotted for
frequency of plants (Y-axis) againgt different
heights (X-axis), a bell-shaped curve was
obtained. From the above it can be concluded
that the observed variation in height is due 1o
L. it being & polygenic trait
2. environmental effect
3. wariation in genotype

4. influence of environment on di it
genotypes
S4. 979w F gRT dW & Tammoait &
il dﬂ—w m' ' HIAT {7
54, Whlch o g following viruses cause acute

illness due to contamination of

. Negovi 2. Poliovirus
tivirig 4, Filoviruses
#u, 58S wivm Ieh Bryseen &
i wAfAe aur el suvsEan &

e T o E
I, B2 2.

3 W 4.

55. The phylum in which the animals are bilaterally
symmetrical in the larval stage and radially
symmetrical in the adult stage is
I. Coelenterata. 2, Nematoda.

3. Mollusca. 4,  Echinodermata.

AT
uikEsTeT

Sﬁ.ﬁmma@‘rﬁmnlqmﬂaﬁg
B E aur Fged, SifafEw aur @sq gan
% WA 99T FEET B



56. Which of the following fungal groups has
septate hyphae and reproduces asexually by
budding, conidia and fragmentation?
|. Basidiomycota
2, Zypomyceles
3. Chyrrids
4. Cilomeromycota

57 Sfegeany fedor LGSO
39T 3o T & gfRefae ¢ osaer
SR
. WETTHISTN DNA.

2 FIEOEITEEW ANA.
1. RETHEAR RNA.
4. FGREEET DNA

The most commanly used molecular 100l for
phylogentic analysis involves sequencing of
I. mitochondrial DNA,

2. mitochondrial RNA.

3. ribosomal RNA.

4. nuclear DNA.

frelt wonmErdr & 3oy £ afgd
Fadr F 39 v e &

S afadl wow afaat &

o nfEal S Ay 2
HWaTH! U9 IErE

57.

58

¢l

k.
Z
3

T o §|

*

subpopulation within a
from that of a normal

3. immigration and emigration rates  are
significantly higher,

4. immigration and emigration roles arc
negligible.

15

59 o & A Fa-ar Rdsd offt o

59.

6l.

62,

. The gen

1, & 2.
3 BwEr 4.

Which of the following is NOT seme
. Draceng 2. Bamhoo
3. Cicada 4. Mayfly

Tw
qral

1. le=tma—binT
2 =a=bT

L 2
3 lmr=lm+hl
4, r;t'fh\“
between generation time

( on growth rate (r) is described
by the cqtation

=a+phT

Ing —b InT
réa=bT
@ r=lma+binT

st & B sy Rl oftas f R &

DILAG R o

I, Tt & Hoar

2 A g f MR \em
3. it wawer

4, S & e EE e aw

Which of the following is likely to contribute to
the stability of an ecosystem?

. High number of specialists

2. Fewer number of functional links

3. Mére omnivores

4. Linear rather than reticulnte food webs

stwmis (gfirom) figt & afnRe = @

W ve givifaw ol @ Ay Rwta i e

AT & Hiaw givmA |

| Tl Gy & #eph & 7om @ G0 R
For g WL B

2 WE AR WEEREmE Wl HJew
HAET IO qow W Towoor FefUE B
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Al & AR FSTY SuTeRee: Fem
va=

b BT Gmp A oAt & memr & omEn @y
Hear wn Hiaw &

6. In cusocinl indests, males  develop from
unfernifized egps while fomales develop from
fertilized eges. The uliimate comsequence of
this difference is that
L. imany colany there pre always more

males than fermules,
2. u femuile 15 gonztichllv mone elosely
reluted wi ey siser than to Tier own
efTpring

3. femnles ore Behoviomlly mire domidan
thmn the miles

4. in oy colony there are always mare
femalies than males.

6). a1t & oy e o oe U TS

KT B

I ¥ F=a aefEn @l & e o
b Sl

2 ¥R e gl eafe
L el

3. g # gawar o & qiEsE
= O

4. S e \

‘
ALY rEau elephamts

An extraordinary \
possess is
|. emission and getec f ultra high

2

frequency 5.¢
2 153 tion of ultra low
3 I chanpes in earth’s magnetie

sion of ultrsvialet vision.

64, T Tramarens fvaia & oo, feer &1
ift 7 rfs Semow gitade & 7 e
gt &, S e e & Ieg e TEet 3

arfoe §7

i|
F IeEeT T Ag 3, FEedes 4,
Q 65, The mean (g) and stndund deviation (@) of

1. Fmfas swaesn
2. I

3, IEfiese

& s3EEEhEAT

B4 According te which evolutionary theory, there
are long periods without significant
evolutionary changes interupled by

episodes of mpid evolution?

b. Puncioated cguilibrium
2. Salurion
3. Munation
4. Neutrality O

65, Bl Fawiar Aol AW W FnT
{p) 747 fo)&AM 8.5 7 22
A T Y W Ay ST &
ETsel a0 T o FE OBS AT

gftafde @ & & dfteew &

WESTAE a0 & gER SER
e &

faafra 1

Saran
farfrd

body size in & Dracophila population are 83
and  2.3mm, respectively.  Under  natural
selectinn ver many gencrations the poand o of
body size change 1o 85 and 0.8mm,
respectively. The wvpe of agtural seleation
respansthle for the change is called

I, direetiongl, 2. neotral.

3. disraprive, 4. stabilizing:

66. U el fseh Wi Wit ey R vs
wiotelr Ixmeyr &, & w0 & ghiEer qitade &Y
ARET T awar & B yonfad & & <
W, 3 30 F W svgEe g
I wiaeEaTadEr e
2. vindfes =W seaw
3. UeasH dfEE wiawinid s
4, widhits srifeq s ues
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66. A researcher would like to monitor changes in 68. What will happen if DNA is labeled by nick

the level of a serum protein for which an translation while doing DNA foot- printing?
antibody is available,  Which one of the I, Nick translation will facilitale beter
following methods would be best suited for the analysis because entire DNA will be
purpose? labeled and proteins binding at any
I, Immunofluorescence microscopy region of DNA can be dema

2. Fluorescence in situ hybridization with precision.

3. Enzyme linked immunosorbent assay 2. This will allow arranging 1

4. Fluorescence activated cell sorting fragment in the desired ord
3. Labeling by random pringy
67. Wi & fav wfE #@d mﬂﬂ?ﬂ' T advantageous as it gen
iy e if-ﬂ?i e & & sfad & '
UV ST
2. WA Fwgiedt
3. TRA e
4. e & Ve siatesd 69. .
e gl 7 & 280 am
U IR AU R 3000
500 Mlem™ B TR 280 am T WA
mm 090 B & 3uEr AW F@RA

2. Infra-red spectroscopy
3 ﬁnmnn speclroscopy I_ 2 04 mM
4. 7C coment of protein 3. uzmM 4. 0.02 mM
68. DNA wiEos & 2he o g;z 69. A protein has one tryptophan and one

tyrosine in its sequence.  Assume molar
extinction coefficients at 280 nm of

67. Which onc of the methods listed below is the
most sensitive label-free quantification method
for proteins
1. UV spectroscopy

"ﬁ tryptophan and tyrosine as 3000 and 1500
DNA dafes M em™, respectively,  What would be the
st i3 # malar concentration of that protein if its
ahsomption at 280 pm 15 0.907
fwdm  fauifE 1 2mM 2 04mM
3. 02mM 4. 0.02mM
& afsT &7 & e &7 _
70, B FHE' (e, ITAITE) A g I9AT F
WAEHE @ WA § T 9% HewAT TR Swe g W A se R
ugt # Fae aar B 3 FaT & o I9AdT ITgT Wi T §
I /A wEa |, SELor @ fEveor
4, DNA & § =3 Y & e TE & 3, Fzre wv aiEr
s #0 & wafm e afl on 3. FEUER t-afE
T 4, AA-fegeAT U-SEmr
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70. Two groups (Control, Treated) are to be com- 72, TEEEITes vd s T
pared to test the effect of a treatment. Since ' il 2

individual variability is high in both groups, Ff & v &G AR 9 B AT ISR K
the approprinte statistical test to use is Y & el T 5o s feaa F

1. Analysis of variance. A TAGEIIECH UF RS I uw &

2. Kendall’s test. ,

3. Student’s t-test. HGEHT W07 I B T Ay

4. Mann-Whitney U-test. FAFOA KT T 1] & fAw 10

NADH 3] ¥ 2 FADH, 3] &

HIT \PART 'C'

AR O T, SW T g9
0O wOT § AyAed & RBw & mivum
w e i B OARRE AR e
Beidos d=gs § st B A
wheRfoy # Rt =@ & s
8l Afofew ¥ Pefas dwcn @
FrEmoa &

I HERTES C, sy Ry &
ELCE T
* 72. The pglycolysis and cilric acid cycles are

2 m‘rpre#rﬁﬁaa,. s R
impartant pathways to generate energy in the
ecll. Given below are statements regarding the
production of ATP.

A, Electrons released during the oxidative steps
of glycolysis and citric ncid cycle produce 10
molecules 6P NADH and 2 molecules of
FADH; per molecule of glucose.
B. Electrons released during the oxidative steps
ses pain, redness und swelling, of glveolysis and citric acid cyele produce 20
pﬂ:lldc in bee venom. Melittin malecules of NADH and 4 molecules of
ing peptide that is involved in FADH; per molecule of glucose,
holipases in the membrane. The C. The coenzymes produced are oxidized by
et phospholipase that is aetivated by electron transfer chain.
: [}, The conversion of ADP and P, 10 ATP takes
hisphe!ipase C to generate inositol place in the intermembrane space of
ﬂﬁﬂhﬂlﬂ&. mitﬂchmdﬂﬂ
Phospholipase A; to genemite Which one of the following combinations of
arnchidonic seid, above statements is correet?
3. Phospholipase D o generate 11, 3 l. Aand B 2 BandC
inosital, 3, Cand D 4 AadC
4. Phospholipase A; to generate palmitic
acid
5115 CRS/2015—3AH—28
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73, Uw J0-3dw vy A, ve W yits oot
e | ¢, ¢ Fifte R o s
E AW W oafee pAvew Wi A
giftre @ o €
1 W e A ey AR

Fafoe o dier e o, 2 A
afed &

2 AN R oy & Wt A
Feioel 817 A 933 §, oul gnha
g Fege scoae @
wenur # §@a w5 8

3 mAaet Meem @ s
digs gf @ pofEen At B
& E

4. 5 et e e A T
¥ O A A ¢ @ 90
Fax e ofie @Fam & g

73, In a 30-residue peptide, the dihedral ang
@, have been determined by ane or
methods, When their values are examin
the Ramachandran plot, it is
1. not possible for ¢, values

distributed in the helical

sheet region. *

2, possible that the ¢ x all in
the helical re circular
dichroism spectra 5 indicate
beta sheet coformation,

lude that the peptide
oFentirely D-amino acids.
conclude if the peptide
helical or entirely in beta
formation.

Frigten WA & e TR § A
wste sy afea g €

Zar—H ... TR
st s & B o Wi & xR

TS ey & Ty va e & @
o7 ¢ e B

gative atoms compete for the same
n-alom
Donor—H .......Acceplor
The angle '@’ between donor and acceptor of a
hydrogen band was determined from large
number of X-ray structures of proteins, as

shown below:
® ® ®
; 1
b_*_dh3_dl
i 'I;l i ] A 'I: =0 “m 'l: xd

Which one of the distribution of "8" was

observed from the proteins?

1. Onlyb 2. Onlya
3. Onlyc 4. aandb

75. T T & A5 W& (g, b, o) 7 FRGET

FeafedT wea @ T § g Sest & 9
F v sooe R o orfe wieed B a-
mg/mi; b-4 mg/ml. ¢ =2 me/ml.
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75,

i1/ —

a 1 3 3 4 & a r =»
Substrate, pM
T ISERET s A IR kK g
Eid M SErode e s

I. b>c>a 2 a>bh>c
3 a>¢>b 4, cx>a>h

In the accompanying figure, reaction kinetics of
three proteins (a, b, ¢} is presented. Pratein
concentrations used to obtain this data are s - |
mg/ml; b- 4 mg/ml, ¢ -2 mg/ml.

b

o i x 3 i 3 a

Substrate, 10

If catalytic efficiency® Ken'K which
of the following statem correct?
l. b>e>a 2. azb>c¢
4. e¢>a=hb
gEHTT d TR e

T 21911 Yo W
IFAA AT 35 0m” B O 6Ty =

EeE 404" TEEMRERE &1 S9we a0 A2

0

76.

: alest i "ﬂsphmgnllpld
. lesterol @ 10 sphingolipid

F o ow e & fed soeaia aw
iRy e O

50 FrerETe - 25 Fe s

200 HEAT - 100 TRy

40 FrerEEaTe « 20 TR AT

20 FroFeda ; 10 iR

|
.
3
4

Lipid rufts are invalved in signal
in cells, Rafts have composi
from rest of the memb
isolated and found 1o
ﬁphfhg'pﬁpiﬂ ratio ﬂrz: 1
the raft is 35 nm'y If t
cholesterol is 40A%gnd sphingolipid is 60 A%,
d sphingolipids are

: 100 sphingolipid

I W T FmeEfaw od
qAAT HAE 9 WSS § @Y e W
FERiEEEET w Sy & s
TREITATE U AR % e A
Fljﬂﬁ:.ﬂﬂm#m,#ﬂﬂ;
AT Bl & aew o w e @9 6
Gl P & e Seer e aoard
Far 7
A eer ga
o & fvar oF e e
7T Favds f B
Tﬁasﬂ'@’ﬁﬁﬂ.ﬂzmﬁwﬁm.‘ﬁr
HUHT W IFC 9o

il o O

- Glyeolipids and sphingomyelin are produced

by the addition of sugars or phosphorylcholine
to cernmide on cytosolic and luminal surfaces,
respeclively, of the Golgi apparatus, Finally,
after such modifications, these malecyles are
located on the ower half of the plasma
membrane, What key events are responsible
for such localization?
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Membrane fuston only.

Action of Flippase and membrane fusion.
Action of only Flippase.

Flip flop of these molecules in the golgi
membrane eatalyzed by proton pump,

78, HalE  IEemard ST A s &
yaftT wd qRwh s qEeeewnt &
wiEe & e & v wuer A, weaf
F FE IR F Qe & ofmes = &
w3
. mmtwﬂ

$fa &Ter ¢, @ st g g
qftars F1 wiea w0

2 WEREE J gEAATRE & agee
weHae g &, 3 e 9w o
& ofmes &1 dena s &

3. v-SNARE W& & Frsravr gamr
FEAHE QRET YA = HE
& 1

4, SNARE WIiElat = Fietias afeg
w4 8 Hﬂrm‘ti}mgﬁﬂm
qfErs & wfFT & B

78. In an sttempt to study the : secretory
vesicles containing £nsulib%ﬂuhulﬂs in
cultured pancreatic cells d trestment

with “coleemid” = ort of these

B 40 e

of microtubules is
coleemid, which in tumn
hibit the transport of secretory

id inkibits the vesicular trafficking
ugh inactivation of v-SNARE protein.
4. Colcemid activates t-SNARE proteins and in
turm activates vesicular transport.

79. 5@ U PTE WSS UEA gead SIS,
AN Ffiamat F woehe 5 I € A W

it W # fpe o RedRe g g
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agr, 9 sEieAs & UF T 9, e
SRS & WY F § o W R
FFAS g §, A wAR e Ot @ o
tarmusmgﬁ:qwuga:m#

lar plasmids having a centromere
are transformed into yeast cells, they
te and segregate in each cell division,
owever, if a linear chromasome 15 genersted
cutting the plasmid at a single site with a
restriction  endonuclease, the plasmids are
guickly lost from the yeast. [t is known that
genes on the plasmids arc lost because of the
instability of the chromosome ends. What
could be done so as to restore its stabiliny and
can be inherited?
1. Methylation of adenine residues of the
plasmid,
2. Complexing the plasmid ends with
histone proteins.
3. By incorparating telomere sequencesito the
end of plesmid.
4. By incorporating acetylated histone
proteins to the plasmid ends.

CRee 8 Uw SnnEmT Rafer @Eens &S

IUEEOT | X wpEw A & & gEEd

T T W il 0F el TAR A e

i @amwEdt & ¥ ek uwe @ 5 oo

YatH Fr

|, #ATE ZFGE H I AT

2 WS W I S e o
o9 siteuar



1. ZEGE 1 e #E-Eeea v
ey Siteuar

4. W= A aed Shemarn,
e e o F15 wa af

H0. Rec 8 is a meiosis specific cohesin that

mainiains centromeric cohesion between sister

chromatids in meiosis 1. Which of the

phenotypes listed below would you predict will

be manifested in & recsa yeast?

[. Only low viability of dyads.

2. Improper reduction division and low
vighility of tetrads.,

3. Improper equational division and low
viahility of dyads,

4. Low tetrad viability with no effect on
reduction division,

. GHEHEIT DNA SITRAH o & T4 §08 WAar
afwm, A o wEAaw E1 DNA
uinAld ¢ TUT 4 FfUw wEArT €, 99
I WIgAS S oI R e A
AT UF 9 Tow R & N A W

& 9 e feemad € Siear v &
I DNA SRS o gamr 8, 3o

UE 9y, SEH F FEAE0T g B
wftmiage & fAmwer 1
e & v soaw
JrEEE R 'S

2. qyl'mw . e
A TS | e

sfagfora % 3 ﬁ;mtl
3, W aragor ¥ faw
_ & dur DNA

ZAWT WG R T §
4.0 F T 3UFAF DNA
a ZAT HART o
TETNETE £ @0 5 & I UiAAH
Lo

Bl. Evkaryotic DNA polymerase @ has tightly

nssocinted primase activity but moderate
processivity. DNA polymersse cand § are

mighly processive but tack primase activity

Given below are four statements about lending

and jagging strand symiiesis in cukaryvores.

Which one is true?

I. Both leading and lageing strands are
synthesized by DNA polymeruse o,
Moderate processivity is essential 1o
maintain delity of repliciition,

2, Entire lending and lagging strands are
syntheskred by & and £. Fukary
replication is primer indepen
process.

3. Only the laggmng strand :
primer and synthesizg
polymerase a.

4. Primers Tor bothpthe stfis are
synthesired WENApolymerase o
followad eraae switching
with

cods

u.m@:*mﬁ, Co s L
| 7" ST W a2 Sy sRE P

ERafE oft o 0 & e
T S T S P e A
#aa, W AR s A Oz e -
msifdw wfeman sfienfs & 86
G T &7 (07, I' @M 2 FRY §0E
St F IV wEE § el W At wa
#)
l. P, TRt a1, . - OF
siwenf@a; 0 - Sl sfieates
2. P -wrs yideufdm Al e, - T
e, D - o FiealEy
3. Py -#§ FWeafa A p, -Gl
FiweafEa: D - wvi sfteates
4, P -woih wfe=ufEs, p- s
e, D - S st

8. In context 1o lac operon, if two bacteriul

straing Py and Py with the genotypes O°T' Z
and Q' T Z7 respectively, were used to
produce mero-diploid daughter smain D,
which one of the following statements

correctly predicts the expression of Z gene
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(f-galactosidase activity) in all the three

strains? (O', I and Z* denote the wild type

allelle of the respective genes).

[. P, —=Noexpression; Py - constititive
expression; D — Inducible expressian.

2. P, —No expression; P; — constitutive
expression; D — constitutive
expression.

3. P, - No expression; P; — Inducible
expression; D — Inducible expression,

4, P, - Inducible expression; Py —
constitulive expression; [ — Inducible
expression.

. FeRET R TFOH F 3oae 3 ot

#Ea A W wOar d o w0

FRw aan g OE suwast A

TEUH & Io9Taa= 910 719, 37e DNA

Fowa womer # o s mfRlr

=reard Waa

A IEEEA WEHA & TY DNA FHEH
F HE B

B, DNA J3T A TFUH 18 5w 7
fomman

C ¥4 womeEr & TFIH

DNA  #REFE ﬁam,ﬁ:@
HfFmr Pem §

D, TFIH & ufyona,
g @ &
ELUCHE rRAs SHT DNA ¥
|G St DNA FisETT T

(4
2. HAEC
4 WE D

I order to study the transeription factor
TFIH, it was cloned from a large number of
human subjects.  Surprisingly, the subjects
having mutstion in TFIH, also showed
defects in their DNA repair system, Given
below are the explanations:

23

32

A, DNA damage is always associated
with transcription inhibition,

B. TFIH has no role in DNA repair.

C. In mummalian system, TFHH plays an
gctive role in transcription coupled
DNA repair process.

D. Because of mutation in TF

transeription  initiation s in

and incompletely syn
mRNAs  remain  attach e
template DNA leading & :

Choose the correct answer.
1. Aand B
3. Band D

only
& 4 Donly

UealsH &l

B. e (A) Sffe@lS dATE F AMP &7
mENA F 3 TR & s @ AR
Feem F

C. dita (A) 9TEETE TR RNA-FH-EEGS
TeEA £

D, o (A) UifeEME ATP & ADP =
mRANA ¥ 3 Ay @ Sew = 3afE
= Bl

£ o (A) OTRETT ATP & AMP =
mRNA F 3 BT @ I ® WRE
FOT B

F. offe (A) SifesiE dADP § AMP &

mRNA ¥ 3 BT @ Sie &1 3R

e ol
s gvaAT & & Siaar w5 &
. REWTC 3 CcEmh
3 ATHETE 4, CTEWF
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84. The 3" end of most eukaryotic mRNAs is
defined by the addition of a polyA tail ~a
processing reaction called polyadenylation.
The addition of polyA tail is carried out by
the enzyme Poly(A) Polymerase. Given
below are few statements about this process:
A. Poly(A) Polymerase is a template

independent enzyme.

B. Poly(A) Polvmerase catalyses the
addition of AMP from dATP to the 3°
endiol 'mRNA.

C. Poly(A) Polymerase isa RNA-template

dependent enzyme.

Poly(A) Polymernse catalyzes the

addition of ADP from ATP tothe 3" eénd

of mMRNA.

E. Poly (A) Palymerase catalyzes the
addition of AMP from ATP to the 3'
end ol mRMA,

F. Poly (A) Polymerase catalyzes the
addition of AMP from dADP to the 3"

end of mRMA.
Which of the following combinatian is truc?
l. Band T 2. CandD
3, AandE 4 CandF

el 0 3 od | FoF
A FW cDNA 37HA, 4
FofeE w4 P mr &
E LR o & A
frafim et Tl 0 RNA ¥
] fo=raa &
A e sFefae us & anfedis

E. c#ru wfafde axd Sufasiemr
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frdh e & Bew ¥ o Rfice oo 6
'dtrﬁﬂﬂiﬁﬁaaaﬁa’r#qﬁm*m%
' ¥

W 7 ] RS IogEEeH e j
I AFWrC 2 BEWD
J. C.DEE 4. @FD

. With an intention to identify the genes
expressed in an organism at specific stave of
development, mRNAs were isolated from the
given ﬂrga.msm cDNAs  were swmhcm:d
cloned in a suitable vector and

few of the cDNA sequences no
matches with the genomic fuence
Further, it wis observed 1 Sequences
were U-rich and found stretches
dispersed along the s he following

may be possible reasong for Bppearance of such

RNA:
A Splicing x *
|
C‘ Tra
D. G ediated introduction of Us

g endonuclease, terminal-U-

and RNA ligase

minations converting C to U

of the following is the most appropriate

son/s ?
. Aand C 2. BandD
3. C,DandE 4. Donly

86. Shady vaete & @@ RaEw que B
S €, 708, 508 7T 305 AT Iyswedt &
HETET 1008, 1305 FUT | 508 IqEsat fr o o
O ey o Sl ¥ EDTA 9 qEe
Rems suswsar 1 505 mur sos # frafea
FA E, T g g O segaee
fl Gl & AR WA B d s B
THTT @ weg I PRt aw
wHfaa Ty 7# 5 wEar 9 >70s w4t @ o
WIS W W F
| ST & et & EDTA & e 3e

Eragr g i

1008, 1308 & 1508 Rrever & oftefea

T F S EDTA § IWvae THEwTEd £

Z



3. 1005, 1305, NTE GifewwE & saEioa
Fa & 7 e sew IS aen &
79 . FUrE A9 B S awal

4. TEw & U W 3§ ey
e (o) & w9 # 9 9@ B

#6. When ene isolates ribosomes from bacterial

lyzate, apart from 708§, 508 and 308 ribosomal
subunits, one also finds o small population of
1005, 1305 and 1305 sub-units, EDTA
dissociates these Inrger ribosomal subunits
into 508 and 308, suggesting that they have
both the sabunits. Upon addition of ¢ations,
they reassociate into 705, but none of the other
forms could be detected What is the reason
far not obtaining the >70S forms?

. Certain chemokines are known o 5

1 =)

— Tine = Time

infection whereas pminﬂammnl ' kines
are known to enhance mfec order 10
explam these findings, cont ehemokine
receptor knock-out anindils 1. trented with
proinflammatory n}flukr lowed by HIV
administration nm ection was assessed

pmudkml'[ nm: of the graphical
rEpresen low  besl explain the
experime

that eannit be reassembled denovo

without ather cellular companents, — 1-,,.,,, — Tima
4. They are obtained s an experimental
artifact in preparations of ribos

I. Theeffects of EDTA cunnot be reversed

by the addition of cations. —sa— Uhemng gl Srschm snimals
2. 100§, 1308 and1 505 are modified

form of ribasomes that are

irreversibly damaged by EDTA. % ar T
3. 1008, 1308, et¢, represent polysame c. i :

Wirsd Wirnl
loie T leaed T
i fre
bined Blnad
— Time - Time

88, e d@%as wEAl /Sl SRS
anfmfear @ amewly ofEdy & ofae
v

&

-

T

=t Time — Time
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89. A rescarcher was studving a protein X" which
has been observed to move acrass cells when
an extracellular electrical stimulus is provided.
An artificial peptide 'P* was propared which
resembles the structure of connexing and
competitively inhibits connexon furmation.
Which one of the following statements will best
explain the fate of protein ‘X" if the cells are
trested wi ide "P i

88, Of the following signaling processes. which stimulus ;;?m’ﬁ:g,f A W
one is NOT involved in cellular movement or I. X fails to move seross cells due to
cytoskeletal changes? improper formation of tight junc

2. X fails 1o move seross cells doe
improper formation of gap |

3. Xmoves freely acrous g

4, X fails to move across ¢
improper formatiof®of ﬂc’mmwmts.

. w3t A g W Rww, R wam
S Feaor & FROT g

B. ¥« 1t & safire $a-ufaad
it & wawa & FRer Swnat 7 s
T T

C. wwst § Iuserd) & ER mERe-
Ttaﬂauﬁagml

D. wwst # Fified e e
Fde T A & o w5

wfwnlt & sfaE st #)
O I A X HEed R et & & whrar w8 &
2 ¥ & I Taar & . BAWD 2. WIH
& F-9T S A X 3. A@WB 4. AFUWC
#l
s, ik )
3. Xl F AAR AR ;Mﬁ:‘:]hu:::?iﬂuhnn;;:us;mm;d::
== ¥ apparently cured of the tumor, Afier five years,

4. FuwA & AT T & SWor
RN F 3o &= #& X 3eEd §

& tumor was noticed in the patient’s lungs, but
the doctors confirmed that it was derived from
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cells of the mammary gland. The following
possibilities were suggested by the doctor.

A. Bacterigl infection, after radiation, led 10
development of the tumors in - the lungs.

B. Migration of residual chemo-resistant
cells from the mammary gland  resulted in
tumors in the lungs. '

C. Epithelial-ta-mesenchymal transition had
occurred in the lungs,

D. Cells in the lungs were induced to
become = tumor afler chemotherapy,
and from factors secreted by mammary

cells.
Which af the following is correct?
l. Band D 3, OnlyB
I Aand B 4. AandC

91. FRiEA Hoee Wi wAap & ofea B, o
WEME ®EAIA §, OU FHeo URE &
e A O wEa afaer Faw oaa
FHeR 1 FIOEE TEEET (SMC) WiéE
® UR W & WEEw gl @A & N
TUE AT A ww deae e
IEF A SRR A SMC SEET
R @ w §1 Ay wfet

I M FEET A @Y 9 F o
mtaﬁ@ﬁﬁmmf@ﬁ ST
@ B wu R R g &
Feaan wifkwar &

I § @O v gFy F Wy A9 degnr
AR

91. Chromatin condensation is driven by protein
complexes called condensing  which are
members of & family of “structural moaintenance
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of chromatin™ (SMC) proteins that play a key
role in the organization of eukaryvotic
chromosomes, Condensing along with ancther
family of SMC proteins called cohesing
significantly  contribute 1o chromosome
segregation during mitosis,  If the cells are
trealed with  an  iphibitor of |
phosphorylation immediately be 5
enter M phase, which of fi ing
stalements is most likely 1o be

1. Sister chromatids are held by
condensins along the of the
chromosome.

2

. I:ids-m held together by
ins and attached to cach ather only
0 Ielomere,

@Bmcmmtiamma#mmct

g A B S § i) CF s B T s
T AU (i) AT BE T FUFHT &6 C &
wry R @mer g, 39w wiiens

FRiFA F widwwm ey §
1. 2
Stfeninn rl Rbrum
Ly Al ~mhti B
PR PRI
~anti &
= Time =—* Time

—* Time

o=t & & T w6 e B
A- T, B-ies, c-mpadt
A- T, B, C- Weadt
A~ STEW, B-TEad, C-Fa
A- e, B-agad, c9dw

2o
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92. There are three substances A, B and C. Given

C. Precocious germination is germination of

below are the pattern of immunological seeds without passing through the
responses in rabbits when (i) A is administered normal quiescent and/or dormant stage of
along with C, (i) B is administered along with development
C and (i) A is conjugated with B and D, Abscisic acid is known to inhibit precocious
administered along with C. germination
L z Which one of the following combinations is
T T “n:h oD correct?
i O . I ABandC 2. ABandD
3 BCandD 4. A.CandD
= ijc =* Time = Tiniie
Which one of the following is the correct oo e
ich one wing is the corre - .
s mita 8 Rl & area-gfy W &

I. A-protein, B-hapten, C-adjuvant

oAt & dyor |

1. A-hapten, B-protein, C- Edjuvnni TW VN # T s
} Moo chem A 5w P e e @ gt
i a7 A T A7 S
93.mﬁmmmtm#mw§am B. [ler-23 T 39ETE A o
e & & T g8, ow
A. TawE # e sEan F vwmrae it ¥ ¥ar F T A6 T
HUT ASRA-HEY GeaW ORI EaT e ol & Foem S,
90% T T B O v A S S s e
B. S ST TSNS 9T T @, AW & LIN-39 FieRTae and deww
S i it & Aaor g FiAnE 6 T FERE A § T e St

mwmﬁﬁmh
HEFIIGFE AT, ﬂm‘?aﬁ'ﬁmﬂ
HHE SUTE AU THoH
fwr o= & g &)
viEntas wv e

HEFA T &

ﬁmmm#
Asmn

. ABAUTC
ACTUD

D.

3. B, Cam

94, Development of wvulva in O

93. n statements reganding seed
in plants:

final phase of development,

bryos of “orthodox™ seeds become
tolerant to desiceation, dehydrate losing up to
0% of water

Dormant seeds will germinate upon
rehydration while quiescent seeds require
additional treatments or signals for

germination
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# ghafaas Fafa = fa suf 2
AT d gfdaw ot A &
e # eSS & Uh TOF 69
FefFT FA K, Wy ay s wie
A UHiHE G § weaiase @ avar &

IEG FUAT 7 A S T b
I, AFwg 2, AFWC
., A¥OTD 4 BAUTD

elogans is
initinted by the induction of a small humber of
cells by short range signals from a single
inducing cell. With reference to this, following
statements were put forward.

When the anchor cell was ahlated early in
development, no vulva formed.

In o dominant negative mutant of Jet-23,

a primary vulva formed but the secondary
vulva formation did no take place.

A,

B



A cell adopting a primary fate inhibits

adjacent cells from adopting the same fate

by lateral inhibition involving LIN-39 and
also induces the secondary fate in these
cells,

D. A constitutive signal from the hypodermis
inhibits the development of both the primary
and secondary fates but it is overruled by
the initial signal from the anchor cell,

Which of the shove statements is trye?

l. AandB 2. AandC

3 AandD 4. BandD

95. 7AA AW qOT & Rww ¥ Ty & By

Aasmmaf b

I T oW sErn w5 w s
AN TON-3TRSS ST W uw 3 I
T IR o s e g R
I A0 O S WAt WA &
Brww & e st

2. O s raE W oy Shens
TS gt 8O TR Y s e L
R 16 Jwen i
FHIUS N Iepaa &
AR e @)

3. ieaw e o o
S AT e i
FLET FUT I

98, Whic of the following abaut
development of sea urchin embryos is
TRUE?

I, Each blastomere of a 4-cell Slage
passesses a portion of the original
animal-vegetal axis and if isolated and
sllowed to develop will form a
complete but smaller sized larva,

2. Each blastomere of n 8-cell stage has
the capacity to form a complete embryvo
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9.

but by the 16-cell stage, blastomeres
will develop according to their
presumptive fate.

3. Any blastomere isolated till the pluteus
larva formation will regiilate to 20 N
and develop into a full sized embryb.

4. Afier an intricate recombinations
16-cell stage, the resulting e
looses its ability to form
larva.

T NE U3 & oy IumE weiiae

B

D. #i yEsfa yh=fEa o BN
S ZEnr SR & St § g
I9Es WowE WHE S8 ada

W W I9IFAIH Iood o A A #la-

|1 Eam

I, AdWmC 2
i. B@wD i

AEC
HAED

What will happen if' wingless RNAI is
expressed in wingless expressing cells from
the stage when this gene initiates its
expression in a developing Drosophila
embryvo?

A. The enhanced expression of wingfess
thus caused will broaden the area of
engrailed expression.

Since wingless protein makes a long
range gradient, its effect will not be

OIS A8 B eBtact: +91-7021673266 mumbai
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C. The posterior compartment of each B A A W R s D
future segment will get affected. 1. Af), BGv), Ca)
D. Since engrailed expression is initiated 2. Aliv), B(ii)), €)
by pair rule genes, the posterior 3. AGE), B(iv), €
segment will not be affected. 4. Afv), B(iD),  Ctiii
Which one of the following will most -
:].JF A and é}’ Zt.]m Ein“l;hz‘ﬂ ' " [Colmn A Column B Column C
3. BandD 4 OnlyD i) Invagination [i) Movement
of epithelial
cells a5 unit
L - d
WX W T w=E A of the
i) Mo i) ®or & W) oigrar & i) Involution A
iii) Mesoderm
inamgphibians
Wi Endoderm
in sen urchin
HETaEST
v) Mesoderm
in sea urchin
DGRz
iv) o
Which one of the following is the correct
combination?
M L AG), B, CGi)
2. Afiv), B(ii), C(i)
3. Adni), Biv), C(v)
4, A(v), B, Cliii)
e amea 98, wwaTE 1 JEft T €@ 9w & [
wifta & & T R St & deEg R
FioRs o W A e B smreEEar B OSRR O T w
w5 Brer FedeEeT & ¥ Sedl sEm
& 87
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1. LN Wit/ [oatenin finip FGF
-"""-.\_ L o~
Cartliaze — ~= ikt &

Apoplosis

2. [P — Wt/ pcstenin— Dk
|

Cartilogs \Amptnm

1 | Wiitfflcatenin
o —

FEf

1 —=Cartilpge

4 “’tﬁfp—r:{{omn
—
fﬁ-‘h' — 7 Ol — Apoptody

FGF

98, thmli:n! of digits and sculpting the tetrapod
limb requires death of specific cells in the limb
;_g"a programmed manner. Which ene of the

Owing interactions could explain proper
limb formation?

g T e —————

:?rmw = e

ﬁ_. Wnr/P-catenin <
L
Cartilage QA‘"‘M

3, | Wt/pcate @ ror

nti-l — Cartilage

99. qeY at TE fERT & R s o e
TR ¢l 3T U, A% f5 wikEREy
midgEn, & &% senend oS v &
Rfee st & wpe s &

For Online Coaching of csir-net | maha-set | Gate | visit: www.biologyscholar.com, or contact: +91-7021673266,mumbai

i1

aﬁ’nﬁﬁrﬁmmﬂ#wmmﬁ
wue e £
A TTH FEN TERATE @ yiaefoe

UE W FEE e §
B. W& W I e
W S ko
C. Fhamordm DNA *
| ey Bt 2 g B
. HET-aw Ens mEheE D
Far Bi 4
I waiaEt # ¥ e
w0 B
2, BFWC
4. ATUTC

is an important factor for plant growth

development. There are seversl

photoreceptors in higher plants such as

Arabidopsis thatiana involved in perception

of various waveclengths of light. Some

statemients wre given below related to
photoreceptors:

A. Red light photoreceptors are represented
by a gene family.

B. Phytochrome C is the most prominent
photareceptor to perceive red light.

C. Cryptochrome | and eryptochrome 2
have evolved from bacterial DNA
photolyases,

D. Far-red light is perceived by
phytochrome D.

Which one of the following combinations of

above statements is correct?

I. AandB

3. Cand D

100. TorFRITN T & ey g fpdEdcy
R TRV PRY @n) =S E 3w i
# wEafaT & w5 3o et it

2. BandC
4. AandC

ﬁﬁliﬂ!#!:
A, NADH B. FAD
C. wiw-CoA D. vacfespis



aeee gediadE & g Biw A
Iqies goefs difst § Fer ot
&% ata. m AR B
1. AFIIA "
3. CawD 4,

BawC
ATuc

100, Pyrurate dehydrogenase is subject to feed
back inhibition by its products in glycolysis.
Some of the chemical compounds which
might be involved in the process, are listed

below:
A. NADH B. FAD
C. Acetyl-CoA D. Acetaldehyde

Which one of the following combinations of
above chemical compounds is imvolved in
feedback inhibition of pyruvate dehydro-

genase?
I. Aand B 2. BandC
3. CandD 4 AandC

101. WEIEREOT ZAT WA wEeEsT W
gEe ¥ oiEfda F& dMaw 280 TR
¥ = st aF SRafed fear @ 81
daE # FES H FENEOT TU
qfraest & B O 99 &
A. diwaTE ZEAT FUARE

el ST ATEETd

B, §FlE  FEEAWOT L]
Fqatee av g
C. gwaE AT
A T
SR e
D, e # gfigga 'gE-NEw
FAER B
# 2 #aam w0 8
@mc 2. B,CEWD
3. C,DAWA 4, DBRFAA
101, Carbohydrates  synthesized by  photo-

synthesis are converted into sucrose and
transparted via phloem to other parts of the
plant. The following aspects are associated
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with sucrose uploading in phloem and its

transport: _

A. Both reducing and non-reducing
sugars are transported  efficiently
through phloem.

B. Sucrose uploading can be both
symplastic and apoplastic.

C. The route of phloem uploading 15—
mesophyl] cells—phloem parench)
—scompanion cells —» sieve tubes.

D. Transport in sicve tubes i
‘pressure-flow model’.

Which one of the followi ions i
gorrect? C)
1. A, BandC ¢ B.Cand D

i, C,Dand A ¢4 D,BandA

2

¢. FAfEar & nod St &1 wiET
D. firg AR & NODULINSET &1 FhwawT

B gt & & Fa-E ' E
. ABTWC 2. A CAWmD
3. B, CEWD 4. A BAUD

102. Symbiotic nitrogen fixation in legume
nodules involves complex interaction
hetween Rhizobiwm and legume roots. This
complex interaction is governed by
A. Integration of sym plasmid of

Rhizobiwm in the root nuclear

genome.
B. Sensing of plant flavonoids by rhizobia.
C. Activation of nod genes in rhizabia,
D. Activation of NODULIN genes in

legume roots.
Which one of the following combinations is
correct?
. A,BandC 2. A CandD
3, B.Cand D 4, A, BandD
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103. O399 w6t 2 WAl aedt F C. Wl wfoew @ & e gy
SR ofteed & Ao ve 2 g wfFd ow w7 w3 & Be
gtlﬁnﬁm#ﬁﬁﬁrmﬂr T g s i

uﬁ:ﬂ; D @ oof & e g ¢ oaw
A P68O* s FErmRfET—(,—Qq—s PC vRenflE drw Hfwar 2t
—TIGERH bef -5 PT00 Bar % Fmr ot ¥
8. ?W—.ﬁim*mﬁqmnﬂ FUFaT ABA HUlRE
. “Sﬂ:"’" T At & B & ¥ st
. P68D* > R0, - QuoTTzer W P
FIH b - PC
L :fﬂﬁﬂ:::‘tﬂ~&sx—rﬁs I. ABAUC K o 2. B,CFWD
> FeSy —» Bd " 3, &Bﬂw?b 4 ACAUD
fien ddieet & & ==
L KR ﬂ:ﬁ:'-'m 104. Follow in statements related to
: 1 C 1o dehydration stress:
. CcamD 4 DAWA water potentinl of the

sphere  decreases due to water

cit, plants can continue o absarb

fer 45 long as  plamt  water
potential is lower than that of  soil
water,

B. The ratio of root to shoat growith

C

103, A 2" scheme describes electron transpart in
Or-evolving photosynthetic organisms, The 6

direction of clectron flow is presented in the
following sequences: A

A. P680°» Pheophytin — Q,— Qg —»
PC = cytochrome byf — P700
B. P700* — Phylloquinone — FeS,,

ingreases in responye to water deficit,
- Plant cells tend to release solutes to
lower water potential during periods

FeSg — FeSy — Fd

C. PG8O*— Pheophytin — Q of gsmotic stress.
o Bef —» 4 D. Abscisic acid is synthesized ut a

D. P700% — Phylloqui i Mo leastyues
FeSx —+ FeS, dehydrated, and more ABA

Which I S accumulates in the leaf a "

mn:ﬂ;"“ of the follo ombinations is Wblu'rmh one of the following cgi:nptf?:;liuns aof

) ¢ above stitements is correct?

;‘ g:nn:fi$ i B and C Il A,BandC 2. B.CandD

- Dand A 3. ABandD 4. A CandD
104.
. FIHT FGT A et 105, Jifr mer” arg’ few s’ TUT F - mt arg e~
Tﬁmaat: so’, & 9 OF wHET aw A, e
-mm ;mm#m lew' TEFGA T S | A W= R
n Ta q R, I T HEA R fen” arg mar' ¥, 7 By Sy
fom sEow faw @ M##MWWﬂm

FUR T B AW @F e 9 1 Fmm &
TEIT FY T I feu" wrg“met” 2 lew' arg’ mer

B, I« yo= & svfewr & gw ade 3. lew arg mer” & ew' arg” mer
# WOF U I e §
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105. A cross was made betwesn Hfr met” arg 3 & ‘— g ‘:v':mm:
ffu‘srrSXF'm'w'g_iﬂ “str’, in which Marbar iE L 3
leu” exconjugants are selected, If the linear
organization of the genes are feu’ arg’ muf.
which one of the following genotypes 1S
expected to occur in the lowest frequency? -
1. lew arg met~ 2. lew arg’ met” 2] _— —_—

3. lew’ m:g‘ met” 4. lew ﬂ"!_ met” piafile of tia mariere follosing gel elrctrophoresis

'A_ ——— —

The following conclusions
106. i qifdeEr Wl ONA TaEsl A @ B A. In the F;, markers A 2

I O @ ag =R (P U ) and in coupling phase
F7 FrewEwor fear T | W 9T F @ 6
wimdt wEeRor R i R S e
& |y 3T Han $ Igfer Fesea B

e Qtrans)
Aand Bis10eM
Aand Bis5cM

Progeny of tent-gross
L L | ard their frequencies

Marhiint i 5 T ¥
h —_—— | — Q

B — _— —

FrofiTe of oua markers Fallowing gel ﬂQ |

e fres e ol
A F.ﬂﬁlﬁﬁamﬁn@m mmwfﬂmmﬂ
HEEUT (o eh & &% I §
B. Ejaﬁﬁﬁ A?’R@ﬁmﬁ |, X-BEAfEaa AT
i brans) W B 2. FTeeEAT et
C. AAWBE & 10eM Fi 3. wedr, 3o duw & WY
D. ATRT $r glr 5eM B 4, AT e, e AuA & A

# wad w0 -
| c 2. ATWD 107
$ c 4, BEUD
106. Two homozygous individuals (P1 and P2)
were spenotyped  using  dominant DNA
markers A and B, as shown below. The F, d) i
progeny obtained was test crossed. The
frequency of progeny with which different

types is given below: The above pedigree shows the inheritance of &
grs R rare allele. The allele is:

, , . o , SM5CRS/2015—3AH—3B
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X-linked recessive

autosomal recessive

dominant with incomplete penetrance
autosomal recessive with incomplete
penetrance

&N g

108. ¥ie oF T UF BT A FE GF AT UF
GRT GRS & W wEe©r B aan i F
W § 7w 0 F ¥ neneRE w0
W 2 W Y Haw 3 oy, A G any
EY AU §E W A aE oieor w6 &
v w2 ax v seaieRor @ vw SR
w, vw st ofvwor Bear w1062 @
A 9T AT (@S- I Py W= 3,841,
aaar ®ie 1 & Ao B suw @
LN

A. ooty oftsesr o f o aar
T B A GRS 97 & IR A Eh

B. Frofy ofteemn o & arm awr

NG B AW WA 11 & s & *
C. F§Eh & 79 & R W, wF

HURE HEWETOT T UF Q
n.mw-aa’rﬂ:matmqr.i
mwmm
IR FUAT F o oo e
atr & \Q
I ATWIC . ATWD
3, amc&‘ 4

BEWD
108. A p fruit is crossed to & plant with
whi Fy progeny had red fruits.
the Fy, two kinds of progeny were
plants with red-fruits and those with
white-fruits. To test whether it was a case of
recessive epistatic interaction a chi-square test
was performed. A value of |.062 was obtained
(chi-square value at Pyg:=3.841 for Degree of
Freedom=1), The following statements were
|
A. The null hypothesis was that plants with
red and white fruits will occur ina 9:7
ratio

B. The null hypothesis was that plants with
red and white fruits will occur ina 1:1
ratio

C. Based on the chi-square value, it is a
case of recessive epistatic interaction

D. Based on the chi-square value, it i

case of recessive epistatic interacti

Which of the combination of

ments is correct?

l. AandC

i, BmdC

109. feemre & RAfie
T vdiw

D. B BE i oifte & sas-Rfine
ientEa
3ot & o dalest & & s

Expconnlonig
l. AFUTH 2. BEUC
3. AFWC 4. CearD

109, Somatic recombination was caused by mild
exposure to radiation on flies heterozygous for
a given allele during specific stages of
development and the individuals were allowed
to develop. Such individuals are likely to have
A. clones of homozygous cells in hetero-

zygous body.

B. site specific mutagenesis.

C. twin spots, i.e., patches of mutants cells
and homozygous wild type eells in
heterozygous body.

D. tissue specific expression of the given
allele.

Which of the following combination of

answers will be most appropriate?
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BandC
Cand D

l. Asnd B 2.
3. AandC 4.

110. 217 &iiE IEFaar o FunEr S aer
k. o paeifam fw #F IofwE Mspll

e arEe T # U W Seee

globin gene. Mspll digested DNA from &
normal person gives two bands, 1150 bp and
200 bp, in P-globin gene. A family with a
proband (based on the disease phenotype)
gave the following Mspll digestion pattern:

bl gk % Py B0 | Momer Faher Son() | Omghler  Son (W)
fiar & s AT =fRd ¥ uEmr amar o ——— §
Mspll ST DNA, positee e & & &= ===
Zar &, 1150 bp 7T 200 bp | @7 FEwT $E i O
o anuiite) WidE gea 0% §gE A T e E e el |
Mspll Ore Siaa= =

L 4

bp |momher Father SonM  Dooghtar  Son (V) The foll usions were drawn:

A. band and the given
- not present in Son (11)
"wm | — — ==, ~— B. ter is & carrier for the given

on.
C. Whe gene is X-linked and thus Son (1)
becomes the L

29 | = m— o= . The father and daughter are affected.

qF (1) # feYT 74 B
B. Mﬂmﬁﬂt'@
arfew E g

C. W X-Fafea &
FE B
D. fEr g
E &
TE

1
AT e A §v
G ICER I
& 1 & Iawe B gl
T & fov swed el &
HaE ® A S IIgEEH B
ABTTE 2 ABTWC
3 BCAWE 4 CcawD

110, Sickle cell anemia is a recessive genetic
disease caused due to a paint mutation in the
6" codon abolishing one of the Mspll

endonuciease digestion site present in the 3-

E. A de novo mutation in same site on
normal allele has allowed appearance
of disease phenotype in the proband,
Which of the following combination of
conclusions will be the most appropriate for
the figure given above?
l. A,BandE 2. ABandC
3. B,CandE 4 CandD

111. 352 goar & sl oRwad S
=9 S &1 3w @ @ e
w0 & e oftedet # cofeas @
EA &

A ¥ FHH, HIFs, § Ieqe @ €l
B. viENAfes w9 Sgrr aar
C. HraeEiEe adeg @ gerr s §)

D. FETHH IEEEY S v awr b

et & & wta-ar =i .l
. #TA 2. ATWE
3. BEWC 4 CTwD
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111 In high shtitude, hypoxia induces incressed
number of circulating red blood cells, which
can be explained by the following changes:
A. The transeription  factors, HIFs,

produced
B. Erythropoietin secretion is increased

are

113 wdifis awrors & 2w wfeg mfr
iR wRE s e B S
T ot & =ofea &

A TG #RINEt F po, oear & awr

C. Myoglobin content is decreased pm‘m erer
D. Cytochrome oxidase is degreased B, #i&Hu At & Ao =zar
Which one of the following is NOT true? pH T2 B
I. OnlyA 2. AundB &
3. BandC 4, CandD e ' ¥
T Py TG B
2. AR A9vr gefa qamr difas e & D.mmm#@mm
watn Fnfwror 6 sorea e B wet TR ﬁ-@v TqEn  #
& o §)
A A 9 A 3lvE & e @R A = A g g
3@ . & 2. ATUTH
B. ZWl &9 & @ Fnt f aeest & 3, B 4. CcEwmD
e
. 113, ysical exercise, the oxygen supply
e #mw*"'”“m# the Bctive muscles is increased, which has
¥ed) lained by the following statements:
D. 3 s &as # afresiest Po; declines and Pco; rises in the active
- muscles
#:r IR, GOy ST TG A * B. The temperature is incrensed and pH is
ATyaTETS aiatan & wE decreased in active muscles
e & St wl ot b C. 2, 3-biphosphoglycerate is decreased
L WTA 2 A in RBC and Py, rises
' i D. Metabolites accumulsting in the active
i BAwC ’4. muscles increase the affinity of hemo-
globin to oxygen
Which one of the following is NOT correct?
12 The mechanism of so lization in a I. Aonly 2. AsndB
horizontal plane by the in avditory 3. BandC 4 CandD

by
pe between the

sctivity of neurons in superior
olivary nucleus, but not by the
neuronsl activity of auditory cortex.
Which one of the following is NOT correct?
l. Only A 2. AandB
3. BandC 4. Cand D
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115. Estradiol  synthesis follows o 2-cell-2-
gonadotropin theory, where partinl synthesis
oceurs in the granulosa cells and the rest in the
theca intema cells of the Graafian follicle.
Which one of the following correctly represents
estradiol synthesis and seoretion?

114 The fractional clearance of neutral and cutionic
dextran molecules of various sizes through
kidneys of a rat is shown in the figures below.

Which one of the following is cormect?
Purieiral des b — e~ il e

116. ¥F B & AU IugsTen AW
- B

i ol ot i . S Tt it &
6 A, Sarew fAag (i waw

B, TS IE (i) WHeH
C, TAET 7O (iii) ey &4
Davaaelt Fmas | (iv) Tl
(v) ®EEA
A=(ill) B-{iv) C-(i) D-{i)
A=Y B-fiv) C—(ii) D-=(i)

A—(i) B-(v) C-(iiy D-()
A-(iil) B-(i) C—(v) D—(iv)

L5 TERde @@eer R 22
R Frare & i &0 & o6 3
Fydvor TeErer Afveet & g 2
Tivae wifRfes & dsiA

ot o o

116, Which one of the following is the most appropriate
match for the protected areas of India?
Category Protecied Area
A. Bipsphere () Chambal
Hacerve
B. Matiomal Park (i1} Lok
C, Ramsar Site (1ii) Wonda Devi
D. Wildlife () Rajuji
Sunctuary
(¥} Sundurbans
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. A=(ii) B-(v) C=(ii) D-(i . e
2. A-(ii) B-(iv) C- i) D-E?J b e bt T
3. A=) B-{y) C-(iii) D-() whmh
4 A—(iii) B-(ii) C-(v) D-(v) B. % vt aferat @ e &
AE = gfe, WAt ar At w
Fein

7. 91 9w &7 F snfagetra waut & Redao

# S, G e ol @ B i & cwﬂ‘:ﬂmm

Tt D. & 9 # Rww e A T,
Ll =y p—y al wrERel s s
drarE (f) SHHE (i) FET (i) (iv) T
T, + = = - Hﬂ'ﬂﬂaﬂgﬂ‘- *
__? 3 T r | + I, A—(iif) B— D - (i)
3 + + + = 1 A=) : i) D - (iii)
T, - = o = 3. A—(iv i (i) D- ()
4, A—(i C—(i) D= (i)
HT;.T;.T,HHIT.EH‘II: 3

1. gofr @,
ieRaniie:g 118, low are the main characteristics of a

1. &, g, werErds, o malian orders. Match the names of the
3. prEeH, 1S, asr quitT . swuhw%nhmcmﬁsﬁﬁut‘umwmﬂm
W f = ooves even number of loes on
¥R, A, g each foot, omnivorous
B. Teeth consisting of many thin tbes
117. The following table shows selécted char ® e

C. Opposable thumbs, forward facing
eyes, well developed cerebral cortex,
omnivorous

used in analyzing the phylogeneticgslaf
ships of four plant taxa:
lowers

i [ [& D. Hooves with an odd number of toes on
Taxon :'{rylcm W each foot; herbivorous
Phlogm ;
(i) Tapir (i) Lemur (iii) Aardvark

(iv) Pig

Choose the correct combination
A= (iii}B=(iv)C - (i) D-{(ii)
A= (i) B-(iv)C—(i1) D—(iii)
A= (1v)B - (i) C — (i) D—(i)
A= (iv)B - ({ii)C — (i) D - (ii)

I ]
PR )

and T, arc respectively:
I Oaks, Pines, Homworts
" ines, Homworts, Ferns
3. Homworts, Pines, Quks, Ferns
4. Femns, Pines, Oaks, Homworts

[ ]
o b )=

119. Faglt 9=t # 9Ew Foaw TET F IEy IS

118§ Folt 01 & 7Ea siffmeer R §) T TR & g AS e B Reed &
SO & A W I e ot & ey & Sta-a Far &
& @y e F1
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ErC v
A. aTigterT (i) FTgadtoEr # qoT
Fa-aEd J
B A& wcd (i) SR A HET
ST-TTeE Ted
Caront Afesr | (iifsrgednt &
fiea I AT T
D. TR S | (iv) W # s
o Jed
1. A-{) B-(ii) C-(iv) D-(iii)
2 A-(ii) B=() C—(iii) D=(iv)
3. A=(i) B=(ii) C-(ii) D~{iv)
4. A-(i) B—fiii) C-(iv) D-(ii)

119. Which of the following opticns match the plant
tissue type with its correct function in vascular

plants?
Tissue Function
A. Trucheids | (i) Chief wnler-
mnducnng element
gmnmpmm
B. Vessel (i) Chief water-
elements conducting
clement in
C. Sieve tube {iﬂm
element
& 8
0. Sieve cell i ucting
in
IDSPETTNS
. A I
2 A — (i
3. A B —1(ii) C— (iii) D = (iv)
4 — (i) C — (iv) D— (ii)

Iﬂ&##ﬂﬂ-ﬂrﬁwmmm

I SHUTE FEAGTE WY e A
& &
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FmdE FROEA gEHGN
A Fefas (1} Borrelia byrgdorferi
Sy
B. WEH (i) Helicobueter pylor
c. Wiea map | () Rickeusia prowazekil
D. EETE (iv)Stregidcoccus pyogimes

= ek

120. Which of the following'gi
disease — causil m rubimm-::h for each?

A—{ii) B={i) C—(iv) D—(iii)
A—tii) B~y C=() D—{
A-(iv) B—()) C—(il) D-
A —(iv) B~ (i) C— (1)

e commeet human

Causal Microbe

(i) Borrelia burgdorfirt

{ily Helicobacier pyion

{iil) Ricketiafa prowazekll

¢ A= (w}

B-(i)
B-(iii) C-() D-(iv)
B-(i)

C = (iv) D= (iii)

C —(ii) D~ (iii)
—(iii) C=() D=(i)

121, ST F 9T TAET (A - E)F P 2 o
G T8 S B (- F AEE &

T HEE #iie

A, TECTET | (i) AToT

a, gfafe (i) w8

C. mHeeT | (i) WE

D. FATERT | (Iv) &

E. ¥ (v) FEH
I A=(iif) B=(i) C€—(v) D-(iv) E~ii)
2. A=(i) B=(ii) C—[iii) D=(iv) E=(v)
3 A-fiv) B=(iii)) C-(i) D=0G) E-(v
4.

A~ (i) B

«{¥) C=(i) D=(v) E-(ii)

(iv ) Streptococris pyogenis



121. Match the five (A - E) group of i
: organisms
“:imthmrmrreutaxmomin rank (i —v)
given below:

Group Taxonomic
rank
A. Crustacea () Order
B. Hominidae (i1} Domain
C. Dermapiora {iii) Claze
D, Clenophora (iv) Phylum
| E. Archaes {v) Family |

ot o S o

122, K-AT07 &Y A1 3F 2007 ST 9y Aer B

I o7 Rew, wewar vir smaw qar
RS et goen

2. OF s, deuar vl I aur
TR ST e

3. A R, e wdw s aa
e s v

4 FE R, eE vt s
Rl s v

112. Compared to K-selection, r-selec
1.

SHANEE) (3rIeFmm & o & By #
T 7 B

L. et & 3= DE A
T 1 I=T EE &

41

123. Which of the following is

A=(iii)) B=(i) C=(v) D=(iv) E—(ii
A=) B—(ii) C-(iif) n-{ﬁ::; E-?:rjl
A—(iv) B-(iii) C~(ii) D~(i) E~(y)
A—(iil) B-(v) C~(@) D—(iv)E-(ii)

2. Felal @ F= DE A avedi
W IET EE g1

3 HieREt & 35w DE Fur At
1 Heq EE B

4. IFNRd | AT DE Fur

* ST EE §)
Digestion Efficiency (DE) E @I

(=ssimilation/consumption) Ecological

Efficiency (EE fomf i
e m:.dju:{n y st.‘mxummmn} of
1. Endoth DE and
EE.

2, End & low DE and

ectoth ve a high EE
- have a hugh DE and

have a low FE.

erms have a low DE and

YO & Gru ST & o s e
)9 T3 Iy & e wsmt a1 wwes
¥ WT o mwont sey G sEmeh
AOHT I wTer ) #he LA wifEe R o
A TF UF O Ot & & ve a4y 3
IO FFG & v i @ v ooemn &
HT 6§ 0F 3w amn F e
W mEre Beg o e oil ww &
Shawn # g ofwdw A 1 v
SH@ aftad at st o

L @S 1 % gvfrmas & feww wan b
TEYTEE 1 FEAT T §) oshw n#
SENSATE T Geuse seen dat &
i 5T T &

2. @ 1 # geivees ® shewm veay &
NiREewas & AW 4wy ¥ 2w 0 A
TETHE U yEunel Aerw, O %
T w4y §

erms have o low EE.
{ﬁammm HET IR
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3, o | & ETHRl Ao T SETas
at & oha s 9z §
s 1A, qETCEEs H EET % §
qrEqael FeEy & WEH T

4. B | A qEueas Heed ol
wTRwas 2t F oS W g5 B
= 11 H, TEgCEaE AT Gy
Ay, 2w A 333 g

124. Two likes (1 and 11) with a similar trophic

structure  of phytaplankton-zooplankton-
planktivorous fish food chain were chosen,
To understand the 'top-down' effects, some
piscivorous  fish (those that feed on
planktivorous fish) were introduced into
Lake I, making it a system with four trophic
levels. Lake IT was enriched by adding large
quantities of nitrntes and phosphates to study
the ‘bottom-up’ effects over a period of time,
Changes in the biomasses of each trophic
level were measured. The expected major
changes in the two lakes are
1. InLake | zoopiankton biomass
increases, phytoplankton biomass
decreases,

In Lake 11 both phytoplankion and
planktivorous fish hmmum
2. InLakel mnpl.nnl:mu
decreases, phymplmktun
increases.
In Lake Il both
planktivorous 1 sh ;
3. InLake 1 plagky

Tl both phytoplankion and
tivorus fish biomasses increase.

| dm 2 & & ENE
ST iranl (A (+), AEERE
(), 32rerT (0) 7 =gy feraa §
WeuwatEad A, B, CEWID & AR wA
&

42

o I

l
2
3
4

a ouatrix of possible
jal {*], harmiul (=),
pn species | and 2. The

respe
"
+ - 0
.|t E
l 5 A | &
1. Predation, competition, mutualism,
commensalism

2. Mutualism, competition, amensalism,
commensalism

3. Competition, predation, mutualism,
amensalism

4. Competition, mulualism,
commensalism, predation

,mmmtmth

sarary # foer 3 & St 7@ ¥

A S W ST WO €

B. W 8% HOwaT weladl & FE@ar
& §

C. FUHg w0 W Wi W g
R W 1 e A €
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D. g e e v & g,
AT S # wE T § W B
E M0 see afts wenfaet & sftees

(Hint: In values for 0,05, 0.10, .25 and 0.0
are -3.0, =23, 1.4 and 0.2, respectively)

The calculated Shannon diversity index (H)

# IEE FT B values for communities C| and C2,
I B, respectively are
CrLp Z: RO . 1.4 and 0.69 2. 12angd.34
1, HrEp 4. A BEAUWTE 3. Z.land 043 4. L8
126. Which of the following is/are NOT valid
explanation(s) for the observed pattern of 128, prdi-amsemadT weEmEer & e &
species richness? Sy smafeaar & £y 9
Ao Older communities are more species- ) PhihhRE
rich; 0.16; flﬂuﬁﬂ nzj 7 odran A
B. Large arcas support mare species. N
C. Natural enemies promote reduced I. ;-ﬂj —
species richness at local level, 2 A =D 75
D. Commumities in climatically similar 3, ﬂr"‘” 5
habitats rT:r themselves be similar in 4. A' Ay=0.4
species richness.
E. Greater productivity permits existence of 128. In Wpopuliic at Hardy-Weinbern equilibriim, the
mmﬁ ! v mﬂmt&ﬁw Rﬁr-ﬁi]‘ ﬂ'w l'(a'hﬁ;]
. B,CandD 2, OnlyC o I".;:;hz] ,_:If w-}m“mmcﬂur
3. OnlyD 4, A BandE m_,},s;"m . m“
¥ .| "
AyLTS Ar025
uﬁﬂm#mmnmﬁrﬁ 3 A=067 A=0.33
Iz -
i = ﬂ 129. 7@ 39 w7 ¥ g7 Ao wwn W oo
o) 25 35 | 25 aﬂqmﬁmqma:ﬁimm
c2 80 [as| o5 o gE W At & Re swEn w1
(8%a: 0,05, 0.10, 025 & A0 n A ::# * ﬁ:ﬁﬂgm q:vﬂ#ﬁ ' &
qdterr &g, & waer | w2 |
-02
T¥=03) TR & v W e @ ks
.&““"” g (A defm & & Fgge W@ afw
2. 123034 ford t}] - ! :r:!rl. R N
4. 1830y o ik SR

127. The following table shows the number of
individuals of each species found in two

communitios:
Community Species
A| B ClD
Cl 25 | 25 | 25| 28
C2 80 | 05 |05 ] 1D
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waa fer o w0 & S e oE
e T Wt W IvE o Wy @
F AueiRaE Be & aew AR ) R
TREeT @ B, @ wenfia aftmr ghn
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A Wt Rew F 333 & i wvr 1 F
w3 faor wE &t g



2. 2 vt # sl wap @i R
T A ey g

3, sanr w0 ofrer FEp w6 o A
I3 B

4, wainr 19 2 wAE W R # 7 E
i ST A e FE wE R g
# st B

129, Homing pigeons, when relessed at a place far
away from their home, use eanth’s magnetic
field or the sun as navigational cues and choose
the right direction to fly. To test the hypotheses,
two experiments were conducted. In Expt.l, one
group of pigeons (Test) were equipped with
Helmholtz cails (which disrupt magnetic field
detection). while the second group (Control)
were not. Both groups were released on a sunny
day. Expt. IT used the same Control and Test
groups of pigeons, but they were relcased on a
cloudy, overcast day. The expected results, if
the hypatheses is true, would be
1., InExpt. L, both Control and Test
groups fly in the right direction, but in
Expt. I1, only Control group does.

2. Tn both experiments, Test groups fail to
choose the right direction.

3. In Expts. [ and I1, Test groups fly in the
right direction.

4. InExpt | both groups fly in the ri
direction but in Expt. 11
fail to choose the right directi

120, 5t AT B R TF
wrard £ B wEar
e A & AT ¢

FAI-Fo

ATE W,

aur A (c) AT
3T A 30 BT
3o &, e
97 3§ B H AL Al

2. RO b6l
ofE b>120 4. AT IR =240

130, Brothers A and B have the same father but
different mothers. B wants A to help him,
which involves both benefits (b) and costs (¢)
for A. If A incurs & cost of 30 ‘Darwinian

fitness units’ in that act, under what condition
should he help B, following Hamilton's rule?
1. onlyifb>30 2 onlyif b>60
3. onlyifb>120 4. onlyifb>240

131, wwfart & Ram 3y voadt gEnr Ieant
vl T AT TR SR W 8

the muin types of defense employed
pecics against predators
defense: Chemical with aposematic

Hoverflies and wasps (ii); Bombardier beetles,
ladybird beeiles, many butterflies (i), Frilled
lizard, Porcupine fish (iv)

imicry (C); Intimidation display (D)
* y Specles: Grasshoppers snd seahorses (i);

Which one of the following combinations is
cormect?

I, A<(i) Biii) CLii) D<iv)
2. A{iv) Bii) CHi) Diii)
3. A<iil) B{i) CHii) D<iv)
4, Aii) B C4)  D(iv)
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() TRV (i) HeTawgas (i) SreTageer
(V) HTTIA (v) IR (vi) e

rr & & atasr geenlt Far i W 5@
A B

Lo As(v) Beii) C-(i) D(iii) E<(iv) F(vi)
2. Avi) Be(i) C-il) D-(iv) Exiii) F{v)
3. ALY) Bdi) C-Gi)) D(ii) E<{iv) F=(vi)
4. Aiv) B(l) Cii) De(iit) E-{v) F-{vi)

132. Following is the list of some important events
in the history of life and the names of the
epachs of Centzoic era.

Events.

A. Angiosperm dominance ine
continued radiation of m
mammalian orders o

B. Major radiation of m
pollinating inse \
C. Origins of many ups
D. Origin of genug H.
5- pears human ancestors

srliest direct human

ene (i) Pleistocene (iii) Oligocene

(iv) Pliocene {v) Eocene (vi) Miocene
Which one of the following is the correct match
of events with the epochs?

1. A-(v) Bii) C<(i) D<(iii) E<{iv) F-{vi)

2. A-(vi) B-(i) C(ii) D<(iv) E-<iii) F-(v)

3. A<(v) B<(i) C-(iii) Dii) E<(iv) F«(vi)

4. A<(iv) B<(i) C(ii) D(iii) E<(v) F-{vi)
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133. 7 2eid o Rrers a7 & wE ALBLCLD
7 E Faw st s

isovan, Neanderthal and Haomo saprens.
erectus, Homo heidelbergensis,

isovan, Neanderthal and Homo sapieas,
Homa hetdelbergensis, Home sapiens,

Denisovan, Neanderthal, and Momo erecus,

9

133. In the evolutionary tree given below, lerms A,
B, C, D and E, represent respectively

|, Homo erectss, Homo heidlebergensis,
Neanderthal, Denisovan and Homo
Sapiensy,

2. Homo heidelbergensis, Homo erectus,
Denisovan, Neanderthal and Homo
sapiens.

3. Homo erectus, Homo heidelbergensis,
Denisovan, Neanderthal and Homo
sapiens.

4. Homo heidelbergensis, Homo sapiens,
Denisovan, Neanderthal, and Homo
arecius



134, Tehel gieat 3 loxp TUR ¥ Rifeum A sEmaaseh T wese ey
wufy fuife & & R & O o e F e & rEdERT & iy
w ANA, TS ufawme W uw IREh B. beraha & Idn § aETEE HietU
Fuor AR FOT b R e s c vz R e & ST ¥
aEar & o A W & @ I weaae g s
AT whadwe it @on, & fes et A . FEER S3fEon Wi & Foum &
F -l 75 W 1 AwaR wAl gAY
w0 57 N X FEn S R Saa AR A WAR A A

F wny Heanes oA §
' o PP | £

ce to glyphosate using the 5-
acetolactale synthase gene

l. ATFETD O pawmc
4
| shikimate-3-phosphate
genes

134. In transgenic mice, the orientation and Jocati . : - thi

of the loxP sites determine whel B e i

recombinase induces a deletion, an iny, O -

a chromosomal transiocation. If

r

3, COuTD . AduWcC
2 o> Gene X |—{iox > N
135. The follgwi been genetically
engin herbicide resistance in
s G|
ialaphos resistance using the har gene
Sulfonyl urea resistance using the
In which of the abave two cases the mechanism is
s baged on abolition of herbicide binding to the
wants to put the loxP sies enzyme?
that anly inversion will mk:% ich one 1. AsdD 2. BandC

of the following const stifies their 1. CandD 4. AandC
intention. Gene X is the c. ' ‘

N 136, T Thea & Q0 HE IX HEEF il FOR
1 [Gene X —flx P> *:ﬁ IX ¥ ¥FE ), FRF (X S w® i

Faws Za e #OF U S @A §
v wanr # wew X ¥ S s i
feramoy (AV), SiffEr T (AAV) @ TR

Ry (Rv) & Feifaa frr Rt
@ :;. .-.jﬂ gy Wfet & afex, TegEwm] Se W
CRETOT FEET &1 AAV, NiftE fEwE
o~ FyAaT & aEw dETor aer §l AV, S
. —{GeneX—joB>—ja> a1 e dl e, i e @ 7 A
213 2t Sl & g war ¥
135, st # s vy REw @ F [ wrifir afgdt & e T & aw A
T it 41 i $offaad i s T e @
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T IXE o Bt st afrea s
ufET &y ardi
e qftomat & s b
v, o
lr-.--- ‘1 h
Ve X ‘-;l :
o um X :
l." -'!‘ _E
f. #"'.—;‘:. FFFFFF ““"
' me o

RV ZART a; AV @RI b; AAV AT e
AV ZATT 8; AAV ZERIb; RV ZaRT ¢
AAV ZERT a; RV ZAMTb; AV ZaTT¢
AV ZERT a; RV ZaRTb; AAV ZAWTC

A

136. Factor IX is essential
Deficiency of Factar 1X
delivering factor IX gene

using viral vectors.
an expetiment the gene for Factor [X
cloned appropriately into Adenovi
Adeno-associpted virys (AAV) a
(RV). Retrovirus integrate the &v

dividing cells. AAV integrat into
non-dividing cells. AV does the

for blood cloting,
could be corrected by

gene but transfects both and non-
dividing ceils.

Following expression Factor IX was
observed when the were injected
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by RV, bby AV; ¢ by AAV
aby AV b by AAV; ¢ by RV
mby AAV; bby RV; ¢ by AV
aby AV; bby RV; ¢ by AAV

137,

# AF AT & R
Lafie vzl
Adsaar b

2. BAWD

1, caomD

3.

ATTH

Somatic  embryogenesis  is  an Important
exercisé in  micropropagation and  genetic
engineering of plants. The following steps are
considered as critical for achieving somatic
embryogenesis:
A. Reducing the concentration of sucrose in
the medium by half,
Addition of the hormane, 2, 4-
dichlorophenoxyacetic acid, (o induce
somatic embryos,
Reduce agar concentration to 0.6% (wiv)
Use maltose in place of sucrose as a

source

B.

Which one of the following combinations is
coirect?

l. AandC
3, AandB

2 BandD
4 CondD

138, SR wapw vl & S ¥ W R
37T A ¥ 58 30T & R B ot A 2
B v o g



ST 139, A gene from genomic library is screened by
L e using hybridization techmique. +4r'1;fhl7.l‘
2. WA s hybridizing the probe, usually & stringent
3. 3 oA washing step is given. The following
g statements are given to-explain the stringent
4' RN washingstep:
138, For the aquaculture farming of Indian Major A. Stringent washing takes "’E u;ﬂ .
carps several techniques are ussd. Which one of removing ““I:"“:{EU;W
the following techniques is NOT used for this mﬁﬂr yb probe
5% i B Stringent washing is done ion
S B e having high sat conceptragingnd
% liwmatag : c IS i mw:sh' d solution
4. Compasite fish farming . Stringent ingis \ :
* having low salt ¢ tiom kKeeping
o = - a am
139, §507f HOE @ Us o\ & haai CES " m’gﬁng o
zamy, R e #ir @ Jehes s to stay intact by
¥ @ A0 § 95, §Eeda: TH SE uEe shicldingthe interference of water
W Rear s HW ue W g: ?ﬁ:ts with DNA molecules and
e & fAv e ww B e & s easy dissociation of hybrids
A, Feafafeen va sfafimea: @@a ility of hybrid is directly
: rtional to the temperature
Hafiers o @ g 1 2EHE O prope

FE OrE=T TOOT LT B

o7 & T3 A oo B

B mmﬂmm%ﬁ@

Which combination of the above statements
is most appropriate for stringent washing

step?
. A,BandD 2. ACuindD
3. A, BandF 4 C,EandF

140, v Runff A, 7@ #F BT 9t @
e w, g s AE Wt w o
£, 70 3% et SOWEiE DNA @
i BRan gufr wi§ ot gRa
g W8 AT DNA TO Qad SR
#r udwor 9T IEE 9 &7 3§ DNA
T # ww awar §rodh s S
mesERdT ¥ Rv gRdes off g
G418 & Ru Fgaie O, IaA T
Tt 7 & fewdr i & o
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S A hosmctogy A AERAEERIT F 9T RS

2. BCDA
4, C-B-AD

isolated mouse embryonic stem cells and

introduced an engineered DNA into the cells, 141. In %m test for HIV, Gie or more

However, none of the mice were  trunsgenic. 7
it i detected
On checking the cells containing DNA 5 mun |'=:|’|.;.n.ﬂ:;15 marn !h:: xpﬁhh: ::

construct, he found that he had made & mistake : iR
in constructing the DNA since the cells were * Tm::r::: :'h:i ;’;Tn?i::::m

i ol
l. A-BC-D \
140. A swdent, while construeting knock-out mice, * C'A'B'b

resistant to gancyelovir but sensitive 10 G418, o
: : rocellulose paper

:;‘E"'h ;"; of the following constructs had B, Incubation with the buffer containing
gne antibodies specific for vival antigens.

€. Scparation of viral antigens by SDS-
Site of hamokogy PAGE

. Detection of bands by enzyme-linked

secondury antibody

Identify the carrect sequence steps 1o be
performed for 'the experiment.

I, A-B-C-D 2 BL-D-A
3. C-A-B-D 4. C-B-A-D

142, ey gewel & siedE gyt s @
IEa e (D) & 5§ wilew EEw

oiwad B 31 wwar £

_ 0614

o Nzina
1L HIV & fe Preedirer e 3, aft & awt D, & fei awplt ¥ @ & g
W A ovw W 3w Bywifae oiee glr B, 4 3w s & aeed, o st
afaa = I §1 sme & R s gt Wz @ N dAmgs & wEwa s )
= Frdifrad wm & gerelf & fofew = dpow T & v =2

gy foes BE wE
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A. FETeT WEN F AESed #1 uerd

B. ¥NTaT vy ¥ doeed # s

C. ISR W qOE N AT H
ITTIT FL

D. & # 39ET H w0 I aaT
oI AT §

aﬁggwﬂir—mt‘?

I, ATWIC 2. HWEB

3. AMED 4, BEWTD

142. The most important property of any microscope

143,

is its resolution (D) and can be calculated from
the formuln
D61

) N sing

where D is minimum disiance between two
distinguishuble objects, A is the wnve length of
incident light, & is the angular aperture and N is
the refinctive index of the medium. Given
below are several suggestions to improve the
resolution of a microscope:

A, decrease the wave lengih of inci *
light
B. increase the wave !un
light
. ute oil which hnsn hi
index D
D, use gil becouse 0 refractive
index
Which one is the mggr.ﬂhnn"-'
l. AandC 2. OnlyB
3. Only ¢ 4, BandD
e 1 ywE & W\

FT AT TE Aeen Suds sk

YT 2Mmgdl  FR I B 26 sies

¥ v afeom R A Bowoha

giimea @ 95% Rwaw T w fashe

W & v SRvene 5 e (e gofe

) T W i

. 224 & e
2 248 ¥ ¥EwE

i 176 F7 aw 124 ¥ IO
4. 192% &R G 208 | ¥fs

143. The mean and standard deviation of serum

cholesterol in a population of senior citizens are
assumied 1o be 200 and 24mg/d], respectively.
In & random sample of 36 senior 5, what
values of cholesterol [lo whole
number) should lead 10 the mull
hypothesis at 95% confi
I. above 224

2, above 248

3, below 176 al‘:&d
4. below 1924nd abgve 208

144, T Qﬂ.mm#m‘gﬁm-#

Oa

144,

o oftade i wlerer §
AfdeEa § o3vde § o Te-
Y g e S
qeem A, s duror @R ardn Ror & g
fme a 98w X TORa @ § A 3mS
o Wém Y aur Z w2 s deei & '
=T 8w
I, W XoE et g yaw z =
HawAoT FaT B
I8 X, Y a2 @ w5
FafRd w1 ar U e
eernrighdl
3. 9rifte x&r wikeafEa ao vyawm e A
wery, & w5 B
4. IMEE @ AEst # e sE &
v e Sdr aft

M

In response to a drug. changes in profein levels
were examined in a cell [ine. A pulse chase
experiment was performed using V'S labeled
methionine. In comparison o unirested
samples, the following ohservations were
made; few minutes after stimulation, protein X
accumulates and this was fllowed by reduction
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in protein Y and Z. The correct interpremtion of 145, A profein undergoes post-translutional
2

these abiservatio :
L. FeotowXiss swnn i modification. In an experiment to identi
wdz, L whdegmdes Y nature of modification, followin gupmm{ﬁrg;i
2. Protein X is a transcriptional —— :mrl::;:: obtained.
3. Expression of protein X and loss of Y B. Isoclectri ,
F ;m;iénm unrelated. ‘ ":m"' FU‘:;-:-*"*E' 1EF] showed
- Information js not sufficient to - distingyish : 1O Ehange in the
between the three possibilities stated nbove. . mﬂmmmnm W @ g
i serine
The modification t i1 -
14 n that th
iﬁmiﬂ'ﬂ?ﬁ‘-ﬂﬁ ﬂﬁmmmm likely 1o be . tein undergoes is
SRET S @ SE v g : 3
=T gt qftomy arg o

A W8 U SDS-PAGE H Heat Tl
B. mﬁmm’mmnm#aﬂhrﬁ:p]#

wE aRady g
¢ G Ft R
ma:?ﬁfmmwm 6
it b
. mﬁiﬁmm mt
- Q
1. gttt
4. ADP-RERTEARor \O
O
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T FA/ROUGH WORK

3L
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